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(( Grammar ). Fza Ao i aiin

A M 3l oSy (Grammar)) U sis oy jlas éllia
? What is Grammar

. Grammar is defined as the rules that say how words are combined, arranged and changed to show
different meanings
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teacher, student, question, asked
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>The teacher asked the student a question4lax Jsf
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The largest unit of grammar is the sentence
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: ((Sentences))Jaad) M o ki alic
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A sentence is a group of words that expresses a statement, question, command or exclamation

r4laall Adlidall Types 4ayl ) oda
1- Type statement

2- question Type

3- command Type

4- exclamation Type

.. A Sentence consists of one or more clause
Lok (S gl saalg ol Ao g giad dlaall

.. and usually has at least one subject and verb
Al g Jad gaalg Jeld o g giad dlaaditile

: Types of Sentences
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?Statement sentence4siball 4leatl & La
. ila glra ‘_,Jaiw

Ay i gl Agay el 4lea 1 re (( Declarative sentence ) bua) o5 8

"Declarative 4 a5 g) 4say juati 4laa g)"Statement sentence” 4l Alaa e ¢ 4laa (A : He is studying<<dia
sentence"
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..We can make statements affirmative or negative
LA ) Aiiadgilnd) AlaadMand L) (Saal) (a

: | have found a mistalfe alreadyJia
"Statement sentence” ..t £ 5 (e Adia dlax Alaal) 028

: | have not found any mistakes yet Al Jua
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9)((Question sentence)) 4= 55 4laad) 038 131 <"asks for information"4asiaa ¢ Jlws £ sl Vaas he studying?<<
((Interrogative sentence)) ..
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:.Go to study Jba
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9Exclamation sentence4xasidl Laal) & Lo
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"express the speaker’s feeling" cualiall gl Ciuay £ 5l 138 ;| What a lovely day<<Jta
(( Exclamation sentence )) .. L= 55 4laadl o3a 130 ¢, 2 gl 8 dgal g La Eua (a0 i Ciuay Eiaaiall Ui
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Exercise

JIdentify the type of each of the following sentences

a.statement b.questionc.command d.exclamation

1. ?How often do you come here
Asalgding dlaa ol gal); 131>> daglaa (o Gia ,gd Alaal) () gadan (e Lia) g) §(sgagidn Alaad) ol Badl
: b.questionaay)

2. ! How interesting this article is

Al B sla Jadl) o) Bad 7 o S i g 809 ¢ Lt A(How) AalS a5 g Eua (1 g Adadllgl) 855 1) Aplaally
wdgdlal) ddaalld Jelill dey b Jadl) o Cigaall Gag (article ) oW sy A1 Jadll s is )58

dpaet Alas o ol sad) 131> aaad Aadlay da gidia Alaald) off Liay) BaaY g

: d.exclamation4:ay!

3. ! Hurry up before the train’s departure

Giaaial) 131c aaiosall 4alS U (Hurry up) Aalsaga g ¢ dpaat dlaa il laal) o2 (&1 (1) 4agidaglaal) o) Bads
Dalilan 131, >>dle JUaRY cady o) g £ e O paienall oy

: c.command4sayl

4. ? How interesting is this article
((2. ! How interesting this article is )) (4=l 456l alealf ¢y j3lf | gliay
((4. ? How interesting is this article)) :4leall 038 g

Jaiiliglan
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dpalgdivdlen Cud (gf Apaat Alan 135>
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dagha (o a3

o BAN) Ol ga gA g<<Aalgding Alaa 131>
: b.questionalay!

5. . This article is very interesting

Al dlaa A 131<<4a glaa (e ¢ jalithae | Alaad) oda Juady

: a.statement4lay)

Simple, Compound and Complex Sentences

plinal) g 4 yallcddasend) Jaad)
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abyusl) 41aad1- Simple sentence



~ :The man is hereJis
ddavn Alaa o02a 3K la ~Jad — Jeld ¢ L

438 4al) 4Laali2- Compound sentence

: The man is here, and he wants to see youdie
> The man is here A ¥ Alaad)

>he wants to see you4sl Alaad

43S e 4laa A 1dand + << phlikyy Cpilen

sdiaal) 4laali3- Complex sentence
: The man that wants to see you is heredia
sdina dlaa o4 1K< o ina Caald dasad) Alaall  Mthat bl

. We will discuss compound and complex Sentences in detail in the coming lectures
o Aadll) ) pualanall b Jpnaadilly oral) g8 sall Jaadl GBS 7))
VerbsJx8Y)

The verb is the central unit ( nucleus ) of an English sentence ..
WA platy) dadl) B dleall dlau gialla s gl) gaJadl)

WY g e dlaal) A
Alaal) sl ulad) dold) sanucleus <<AslS s

Verbs can refer to actions or states

1SSy B Jadl)

refer to actions

Wl 38 e Eiaal Elaa) o3a ; pun, walk and talk<<dia

refer to states s
. oaddl) dla e ati LIS o3 ; want, have and be<<Jie

Main verbsvs.Helping verbs
035 Lwallad) 1) dsleall) sl Jlady)

. Each English sentence has a main verb
bl Jadlo (g giat Ay SulaiNIAR B Adaa S

: Mohammed walked homedia
bl Jadl) saWalked <<

: Khaled is happydia
webal) Jadll gals <<

. Some sentences also require one or more helping verbs
v AS) ) aa)g el Jadle (g siad Jaadl Gy

LABLEY) JadY) 1 ey ((auxiliary verbs)) s29 (Al A1 s laal) Jadl)

: He is coming to the meeting Jis
wdbal Jad o) selusa Jad ) (s ) Ua
b S I ((coming ) s

: He could come here soondia
WAk 1Y ) e lue Jad ) (could ) Ua
o qabea) J281) 94 (come ) 9




Helping verbs ( auxiliaries ) include:
b (AL 6T pas Lual) Jlady)

1. (be ( is, am, are, was, were

2. have, has, had

3. do, does, did

4. Modal auxiliaries: can, could, shall, will, would, may, might.. etc

dfaada
LY Gy (B gl Jlad) 15 g8 3 92 91 ab)

: He is hereJia
. Adaall b eluSadll ga (is) Ua

Exercise
dentify whether the underlined verb is the main verb or the helping verb of each sentence below
a.main verbb.helping verb

1. Students like fast food
wgealea) Jab gaLike<<
: a.main verb4asay)

2. He has enough money for the trip

S AT Jab dlia Ja Saolaa Jad ga Ja alaallada 8 (Sl g dolua Jad(has) o Wil U3 Las
) J2d ga 1M1 AT Jnd a9 ¥, Y

: a.main verb4:aY!

3. Khaled does not want to go to school today
lua J2b sadoes <dadll Ul

(el J2b 92 want <Jadl)

i lsa J2d ) gad) 1al<<

: b.helping verb4:laY!

4. He is helping me wash the dishes
) Jadl) sahelping <dadl)

e lualMadll o2 (is) <Jadll g

badlad ga ol sl il

: a.main verb4asay)

5. He will arrive shortly

Ao lua Jad gawill <Jadll Ll
bl J2d oa arrive <Jadll g
aolalad of gall 131

: b.helping verb4:ay!

Transitivity
o Jaliig JalS e Abaallict g 4y g Al L) Agh () Gy ARlSIg) Cll e e

: Verbs are divided into two groups based on transitivity
Do sadl) Addllabad o e gana ) acdii JladY)

‘ : Intransitive verbsds¥! g sil1-
9 rall AeiCa Alaad) (¥ Audsaia ) gling ¥ (o) "stnia 5™ a3 Jrdl) ey 4 Jsaia s siadyAl Jad¥) 4
W Jgrdall

: Birds fly i
JeBirds <
JadFly <



Ladaall 4 Jgrda 22 g

: The man spokeJia

JeléThe man <

J=3Spoke<

WAl 4 A grdada g Y

: Transitive verbs S & 12

gs“-.'dy-\’auiscuu, él“ é‘ ém‘MMM‘mJ,QL‘Sﬂ‘M‘@AQd@&: P " *_'!‘JL’-AY\",AJ
adaal) e Jai

1Omand  JTransitive verbs-l acdis g

: Monotransitive verbs Js¥) adll1-
"one"..s ! ) 2y AMono <
w2 s Jndple o giad Al JadY) A

: Khaled broke the windowdJia

JeléKhaled <

Jxébroke <

4 Jsiathe window <

"the window" .. s8 9335 4 J i de s giay 48¥ Monotransitive verbd=& g sic

: Ditransitive verbs St ad!)2-
TWo...i ) QL) (D <
WA (N edpde o giad AN JudY) A

: Saleh gave Majid a pendie

JelSaleh <

JxdGave <

Js) 4 JseiaMajid <

Ol 43 Jsadaa pen <

apen”..s: "Majid et g o (¥ s2igle (g gisy 43Y Ditransitive verbdadl) g sic

:Exercise
:Decide whether the underlined verbs are
a.intransitive b.monotransitive c.ditransitive

) 1. The student needs a pen
monotransitive verb st <l s>l 13 (@ pen ) .. <<sh g sl g 43 Jgrdaile (g sy needs Jadll
: b.monotransitive4:a!

) 2. Ali told his friend a joke
ditransitive verb s2 521 1) (a joke) .. <<y (his friend) Lea s 43 (N g2da o 5 sing told Jadl)
: c.ditransitive4slay!

) 3. students study
intransitive verb . <l saliic<dy Jgada o (s giaa ¥ study Jadl)
: a.infransitive4s\ay)

/ 4. students study books
monotransitive verb s2 < a1l 13 (books) << 8 9 sl g 43 Jgada lo (5 giag study Jadl)
:b.monotransitive4:tay!

.. Note: Some verbs can be either intransitive or transitive

o Adaal) o daiag 138 << Aa Y ST B g dgiatia (985 3 JladY) (lryaliadle
Direct vs.Indirect Objects

ik ) 4y Jpiallaca yilallgs  grial



.. As we saw in the previous section, ditransitive verbs take two objects. One of these objects is called a
direct object and the other one is called an indirect object

A Y sada 330 JladY) (lary (Gibaad) adaal) b Uk Le Jha

4 Jsaday Jaa ((indirect object)) S& AV « sdlia 43 J sia; Jaay ((direct object)) S & 4 (¥ sadall I3 (s

:The indirect object comes first followed by the direct object in this example
((direct object)) .. skl 43 J saially ails a3 J9¥) A Aly((indirect object )) sl ) 43 J sadal) sale

: He gave me a bookdie
"indirect object" .. il £ 4 Js2da saAme <
"direct object".. sl 43 Js2ia s2a book <

: The indirect object is typically personal as in “me” in the previous example, and “the man” in the
_ following example
)) raddi((OsSs 83 Mindirect object” )

: He asked the man a questionJis

"personal".. s2 s"indirect object" il x& 4 Jg2ia sathe man<

"direct object".. sits 43 Js2ia 92 a question <s

"The indirect object is often equivalent to a prepositional phrase with “to” or “for

Jrdall day Al B Wy Jgndall @Bl gl B oSy ¢ AL Ay Jgrdall ais a3 J oWl A Laillila Al gadal) of LT U S Ul
1oh g W) B8 osal g Ala B LY 4
1 to —for..Jie sgsaay Jlas ¥ 4y Jsrdall A5 ()

: He gave a book to medis

> He gave me a book J<a¥lu Alaxl

gave..dxl) 3 ¢ 92 (a book) AU 4 Jgadall sl to ) (me) LD Laxie oSl
.Jse Jsrda oa (to me ) ldc<

: He bought a gift for his sonJie

> He bought his son a gift J<¥l: o 4lex)

bought..dsdll 3 3 s (a gift) A 4 Jsdallasal(for)= (his son) UJ3 Leaie csly
.Js 4 Jsrda s (for his son ) 3ic<

Bl 5 palaallmm

? What is a phrase
.A phrase is defined as two or more words that function together as a group

o Jluallaala
40 sanas Taa Jaxd () 5 JIS) ) (ialSia 9S50 )

..g.The old man walked down the street
ol o ARl dlaadl B o jlall 028 s <The old mane b

:There are a number of phrase types in English including
1-Noun phrases

2-Verb phrase

3- Adjective phrases

4-Adverbial phrases

5- Prepositional phrases

L 4 Sl Aadl A ) jlad) £ 68 e dae lia
) danlglan dpd) Apaci) o ladl]-



)4ulad dlan 43d) dgladl) o jLsli2-

)iua s Aday dpdi o) Adindglan Al ) 4giadl) o Lali3-
=) Ol Jehsad B Ad yh Al Andi ) 4gd ) o jlall4-
) sl ddaa dadi ) ygsaally tal) 8 Le5-

Each phrase has a head and one or more modifiers*
SJiia JS) gl aal g S gan) g jlgd ol

Jetbian — dudy ol Ciliua )) cBRA Llisa:modifiersad sale*

:(The Noun Phrase (NP
LAzand) o lally fasia)

:A noun phrase (often abbreviated to NP) is a convenient term for any of the following
1. A Noun

e.g. Ahmed, students

2. A Nominal Group

e.g. a blue pen, the students

1583 &) Ao NP JLaial) aladiiull gliady ¢y gail) ¢ 255840 Jgs ™ NP™) * 1 ety La 158 g (Avamila jlanl)
._ﬂ\@fﬁ\&lw}&&@hﬂd\

L e Y e llaas s

el c-\u\:‘&uﬂ-

WS ¢ 350 Al dsan) As gana2-

.Each nominal group has a head and one or more modifiers*
WJBse S) ghaal g Jira ganl g gul ylgd Apanl 4 gana ¥

.Modifiers add to, change or limit the meaning of the head in a phrase. The head is the word that
determines the type of the phrase

Al (s YN D allilia

okl Yl iaa puail.

o bad) (Bl ) e (e aall2-

Lokl £ g8 aaad Al Al gyl )

For example, the word “pen” is a noun that can refer to any kind of pens. When we modify it as in the
previous example “a bluepen”, we limit the noun so that it
.can only refer to a specific kind of pens

sl A" ald A S

" LEUAE " i BiludUial) B LaS Lgdiaaty a ki Ladie (K19 ¢ a3EY) e £ i o ) iy B
W eSBY) Ga Cma £ g () BB iy O (e Euay ) Udia (ad U

) paal e Ulie L (a) iyl 3131 g (blue ) Jalld

(ablue).. s Jamall g o Ll o) alaall (i Y 58(pen)

:Some other examples
Ahmed’s desk

a book store

the student

. L ALY (any

.daa) iJJLh:C._.uAﬁ cdaa) g (addll 1 g el sadaa b A gatilia(Ahmed’s desk)

LSl Jaarruaid o sl gb gge o Sdaa 9d Jaal) U (a book store)

Ul st ) " iy il 31 sdda g3 g Sdaa pla s Ua(the student)

3. A Pronoun

A pronoun is a type of “pro-forms” which are defined as forms used instead of other forms. Instead of
using the nominal group “the old man” we can use the

."pronoun “he



ool 3-

" sal) Z A g oasall A Cha £ 85 A ypaal)

AT il Yy Assiiioal) g ilail) A" o gall" 4ul) gall ziall)

" 58 " he-sadall aladiad WiSa™ jsaall Ja ) " the old man- 4sawd! 4 sasal) aladiad (e Y

:Pronouns include

:a. Personal Pronouns

.Subject Pronouns: |, you, he, she, it, we, they

.Object Pronouns: me, you, her, him, it, us, them

.Possessive Pronouns: mine, yours, hers, his, its, ours, theirs

bl Jadd

1daaddl) jiladal)

> |, you, he, she, it, we, theyJs Wl jilaa

> me, you, her, him, it, us, them4: J g2iall yilaa

.atltheirs « Wours ) Jilall yl (@ o 4lits < 4lhis « Whers « dlyours « 1> mine 4slall diva ilaz

b. Reflexive Pronouns: myself, yourself, himself, itself...etc
ddly o) Lgmdhiitself « Awdiy g) andihimself ¢ cludiyg) cudiyourself « (pdy o) (oudi: myself 4salsady) jiledl) -
&) il )

.c. Indefinite Pronouns: everyone, someone, something

Lisdsomething « L yaddsomeone ¢« sy JS: everyonessiaa il yiledll -z
4. A Pronominal Group

e.g.we all

everyone in our class

.In a pronominal group, a pronoun is the head. The pronouns “we” and “everyone” in the previous
examples are the heads of the pronominal groups

e Heln gk A panad-

baaaiiwe all Jéa

..Uladdraalieveryone in our class

Loskall il ga ppadal) ¢ padally (glaiall 5 e de gana B

wopadally A 5y jrana A gana (B (sl ab ARl ALY A" aaaal) "everyone-s "o " we - siladal)
wJial) g2 - all (i) g2 g ssedaliwecwe all

.Jaall g - in our class wiY s ssedlleveryoneceveryone in our class
:Exercise

Identify the type of the underlined NP
a. noun b. nominal group ¢. pronoun d. pronominal group

1. The children went to bed late
b.nominal group

Azan) 4 gana nominal group & <lsad) 13< Jeldela drand A gana ¢ (i) 98 ¢ alS o 0 jle

2. | made this cake myself
C. pronoun

Lo pronoun s o gall 13 pulSal) paada gac " ") o dga ¢ o) galS o o Le

3. Ahmed owns an expensive car
b. nominal group

4= gana nominal group s <52l 13) "expensive" <s: "an" L (¥ira 32 gage i A " car" ¢ clalS 3 oo o ke
"w‘

B

4. Khaled bought a book



a. houn
o=l noun $& il galiidi< aal g ped ¢ b33 g AalS 2 0 s

5. The book is his
C. pronoun

G sall 131< L paduil dlte GUSIL) W el « 4Slal) dhsa suada o) Possessive Pronouns sbs « ssaly 4alS cpa b
..JMa pronoun s

6. Someone in our office forgot to lock the door
d. pronominal group

o Ua Jsadl 081 ¢ Lyl jpasa 92 5"™our office 4illla iy « jada s 5 ™"Someone o_ks Jl ¢ Glijke Ll Ua
""Someone in our office .. x! « Aliu) haghial) aaa

woul Y ga g sadaliSomeone

.osaailia yiada pronominal group s sl 13, <Jall sain our office

:Nouns

:Nouns can be divided to

1. :Proper Nouns

e.g. Ahmed, Al-Ahsa

.A proper noun is the name of someone or something that is usually imagined to be unique

2. :Common Nouns
e.g. friend, desk, bird, air
A common noun is a name given either to an example of a class or to the class as a whole

:Friend” refers to one example of a class in the following sentence"
e.g. 1. Ahmed is a good friend

:Friend” refers to the class as a whole in the following sentence"
e.g. 2. A friend is somebody we like and know well

Friend” in example 2 is called a generic noun"

[ ) andl pland)

) ) el o) Aapaall slaudi-

o Jpaa gl 45 55 a2 B (% O Bale )3l £ A ) Al il ga)alall) aall pudd)
Ll S8 Saas padld ) Ulld jhdy daa) aul e Ledic<aaal

Lol o8 Saae e il B jhady plual) el Ladie<slual)

),_33\5\1\ (AA,'\;.AA\ slau) o ol

148 yidiallelani¥)2-

LJSS ALl ) gladd e YUiala) Jara s gadd idial) ad)

1l

Wdalg padd ) gl ¢ daal e 3ga Jg¥YLall 8 " Friend"4alsq-

" Friend" .. 4als! ciy jaign JUal) 138 & (JSS 44l e agad AU Gl & " Friend" 4als2-
".ale au) " 3 generic noun — S% AUNGAY & " Friend" dals*

Exercise

:Identify whether the underlined noun is
(a. a common noun (example of a class
b. a common noun (generic) ¢. a proper noun

1. Mohammed gave me a pen

(a. a common noun (example of a class

(a common noun & < sa) 131<alh Slaei a2 o)) i) Addll (e 334 51 ) 4ddl) o Jla ara sl sapen <
.44l ¢pa 233 al(example of a class



2. A pen is an instrument used for writing
(b. @a common noun (generic
.2 ax) (a common noun (generic s <l sall 13<JsSgidt) LY Jla e aud sapen <

3. Khaled’s car is new

(a. a common noun (example of a class

acommon & o sad) 131< A& Bl (A 9 Alma o jbae LUdaa (g (448 (po 3034 (5] )) Adl) el s sl scar <
..4ddllia aasa aulnoun (example of a class

4. Khaled has a new car
€. a proper noun
)..ale anl) zaaua aul @ proper noun & <l sl Guma gadd e 3y MiKhaled <

5. Fruit is good for you

(b. @a common noun (generic

(a common noun s < s>l ;\3\) < slaan 4 gl Uladi Jy 4gSWY) g o aaad al) JSS addl) MU o ol saFruit <
..p& awl(generic

.Common nouns are usually found in nominal groups to help the speaker say which particular example of
a class he has in mind
wAllule Cijbd Al Adeal) 4480 Lale J 68 B Gitatiad) soludl dpand Cle garash sa 6 Bale AS idal) slaw)

J YL
The students were waiting for the teacher

). fidia ) 851 s 5 ((4pam) 45 3434)) - The students

, ). )) sl by 5 (s 8137)) (- The
Cagald (i) ((The-313) LIRS &) sy Lghws a3 ((DUa ((Students-4als of ) « The 3191  cilas. Students
)).. cuhll))

The iyl 3130 WA ) day Gaas 138 5 4dlal) (e 48 gana Lidia gy (Sl (B 4uthal) aan oo didadi ol JEal) 134 A
. Adma 40 garal oddaa g 4 jrh Cauald Students (e

)).. lsidia paal )) sl abiys ((4pam) 4 9424 )) (2- the teacher

‘ ))-dia ) SO iy g ((iaSBN)) A= The

Cagald (il J) ((The-3143) LA ¢)) sy Lgdis &5 ((alra ((teacher-4alSil ) « The 318Y) o culie. teacher

)).. pdxad((

teacher = The iuaill 813 W) of aa uaa 138 g aal g alealisin Jy ¢ Cpaleall aran oo idaii ol JEal) 138 (s A
,_h\}fubdﬁa‘gﬁ}iw sald

: g.ii:d\JL:'\ASI
The teacher’s desk is new

)).. Jia)) Liasl g (& idin amad)) B8l ubly g ((4ramlgs 5a34)) A- The teacher’s

. ))..Jins ) sl iy ) iy a 3141)) (a- The

Capald (il JI ((The- 3131 LA () day Ldiaad o3 ((alas ((teacher’s-4alS ¢ ) « The 81¥) - clae- teacher’s
o)) pmal(

LAyl 4s garall Gl ) (A= desk

) ..Jaalla- The teacher’s

o prall A gl raah ¢ aleally gas adglal) o A 5 4dglal) 4ib s e Uasla JUial) 13a-

WAy 2 gand) Ban 8 UaeLudi;ciy i) Blaj*
Proper nouns will not normally be modified this way. In other words, modification differs between a

common noun and a proper houn

AR R 0l Ll Sy Y Bale )alal) (Ansaual) slaud)
).. alad)) geaal) andl g & sidall a) C cAlidliandl) ¢ 5 AT 8 ey



Proper and common nouns((as well as pronouns))can refer to something:
a.animate

b.inanimate

D) i B ((Lilaall XS g)) AS idall slan) o) (aladl) Aagaualislen)

). AS alall-z) g 1) (A 5ol

) chileall (& i 5l

a. Animate

Animate nouns refer to a person or animal
)izt oY) (ASaial) -

LOlgs 9l padd ) judias adalls L)

1Jba

Ahmed, friend, bird

)..0ad<) saalAhmed <

)..oadd) (@smafriend <

). (Lsiuasbird <

b. Inanimate

Inanimate nouns refer to a place, thing or an idea
el

L0088 gl £ gl GlSa ) adi odalad) slan)
1Jba

Al-Ahsa, desk, air, freedom

)..(t84) slua¥IAl-Ahsa <

)5 (M sadesk <

)..8s) £ gRair <

)..oS8) 4y ;afreedom <

:Count vs. Mass Nouns

1odgdra yad) A oa ganallslan)

..(Nouns can either be countable (count nouns) or uncountable (mass nouns
)..03gnall Lol (52903 gdaq o5 38 placdl-
"), ALY o gana i) plasd) (S8 g0 gira iy o8I B g

Count nouns such as “friend” and “man” can be preceded by “one” and may have a plural form such as
“friends” and “men” which can be preceded by a number higher than one

" .3a) g "one-Aals J@ (e 5LEE" Ja ) "man- " (Biie:"friend-diecod gl slaul

L) sia i Tase Lghad of Sy A §" Sl "men-g" sl "friends-Jie ¢ pan Aia LglisSE of ¢Says-

el 2l
¢ AN Al 02 garal) sla)

)).diia)) Sa) gl 13I<aa) g Ja o1
))..243)) 2l g (e SiSi<a 2

man .44l 2aall g8 men s ¢ friend 4alS! gaal) g8 friends 13

:JGa

“two friends” and “ten men”
.osatwo friends

.day 8_de-ten men

lad g ¥ eaganall pladl (lallaas da gagn Sulady) dall) 8

el - 3 dall
L2 9 aguil two e B

D AUIS A g 0a garall slacdl Cilalhiaall s gl 3 aa gad A jal) A3l L
W28 - e - 3k

.Mass nouns such as “bread” and “milk” cannot be preceded by “one” and do not have a plural form
¥ Layi g <" 2a) 5 "one-4als J ¢ (g GliSay ¥" cula "milk-3" 3:3:"bread-iac)oa ginall 4l slacl) ALl



.Some nouns can be used as both count and mass nouns according to the speaker’s meaning
wCataiallingl Ui o) ges 2a o) ALS"3gira p& ail g 3 gina ansl(=S Lgalddind) (S plan) (lany

1l

1. (Light travels faster than sound. (mass noun

00 gina 1S Light AalS cipla Uia

2. (There are two lights by his desk. (count noun

Ladaadl oda B 4y Jgrda sy lights 4alS g ¢ 03 93 [ights AalSisla Ui
:Collective Nouns

)aaadl an) Aselaadlelow)

.A collective noun is a singular word used to refer to a group
A8 sanadd) B LA adiiad 03 ke AalS g3 Slanll ausY)

il

family, team, public

ol (e 23e safamily <

waldY) (4 4 garateam <
GaAEY) ¢ 4 gara Laalpublic <

A collective noun can be followed by a singular verb (e.g. is) or a plural verb (e.g. are). It may be
associated with a singular possessive form (its), or a plural one

.(their)

are)..Jiallw o (aeaddady ghiis) JUall Ju o (2 iablaiaddh of (Sag,elaal) and)

(their).. gaall 4.SLal) disgpa o) (its) 2kallgSlal) disuapa 3 (381 5 B

J oYL
1. Our team is the best
Our team are the best

e LaadSgre <= 6 s 2 6 e Lghilis LiCay gabuad) JUiall ‘s,a alaal).

g 9N
2. Ahmed’s family moved to its new home
Ahmed’s family moved to their new home

Qe LaadStheir <= 0 e geits = 0y LS LiSadilud) JUial) 8 4laal)-

1 05ASAl) Ll Ads gala
Laf) ddpall 9355 ¢ Gy cane¥) uld paalidiuay s AT g kel ddpay Ladlan) ¢S iy | g Oilen iS5 addy Le J sy
). e 8) 3ka

Note: It is reasonable to be consistent when using collective nouns as either singular or plural. In
American English, they are frequently singular, while they are

.more frequently plural in British English

1adaaSla*

el disay i 3 il disay L) 4BB) gia 465 () dpeLaadlslan) aladiad die J ghaal) (yan

Wil disag o8 GLaY) e S (B4 HaY) 4y ulat) daty S

Aty g AN Aatl) Brant) ddiag o83 laY) ST g gaa A

Exercise

:Decide whether the following NPs can be followed by
a. a singular verb b. a plural verb c. both are possible

1. Ahmed'’s young brother
a. a singular verb
: Ahmed’s young brother isds&i ¢ ¢Seall (s



: Ahmed’s young brother are Js&i ¢ LiiSay SUs!
3 ke Jab AL ey (a singular verb) <l gl 1< gaa aud sl 5 358 ai) (2031 530 (Ahmed’s young brother-c¥
..ki (Ahmed’s young brother) /=

2. his family

¢. both are possible

: his family isJds&i ¢ (Seall (5

 his family are Jsai &) UiSas o

(his family) 4als o pan Jad g 380 Jad 4éLal ¢S (both are possible) ) sal) 13<gaand (4ilils (his family-¢¥

3. juice

a. a singular verb

: juice isdsii o) (Saal) (e

: juice are Jsii ) Lisay ¥ (il

dals o 3 j8a Jad A8l (Say (a singular verb) <l sal) 131<a gina pa) (ual g" ALIS™3 gira 1 anad (peas (juice-oY
.Ld(juice)

4. the company

c. both are possible

: the company isJsii &)} (Saall (1

: the company are Jsi &) UiSayg

(the dals o pan Jad 9 34a Jad 48La) (i%ay (both are possible) <l gall 131<gazan (45,4 (the company-c¥
company) ..

5. men

b. a plural verb

: men areds&i ¢ oSaal) (e

: men isdsii o) Lisay ¥ (il

iyl o)) UiiSay ¥ g 1S (men) 4alS o gan Jab ALl ¢Sy (a plural verb) <l sad) 1< aes disa (da (men-cY
Wl pl a5 aan Aia ATY 3 jialad

~md SIS 3 _palaall

:Modifiers
In our previous overview of phrases, We mentioned that each phrase has a head and
one or more modifiers

WARLL) B pualaall 8 WAL S Al il e Gl B palaallada A
Ll e Whaas Ladie LU SV aral) g-
it (e ST gl 2l g Jaa ganl g ol M (Ao o gia B le JS o U S

:Modifiers can be divided into two groups

1. Pre-modifiers are modifiers that come before the head
2. Post- modifiers are modifiers that come after the head

O S gana ) andll CY Ml



Wil g8 AU AN A g>40L8Y e el Pre-modifiers
ol 1) 3 A AN A g>400) <N wal)2- Post- modifiers
.. ( Take a look at the following noun phrases ( NPs

LB o giaally AN (ny 2050 ciilay AN Jgaadl (e (slaa o gasbita ¥ Y da il ) ) (A

300 (NPs ) dpanl) i ) e 5 085 3l

;¥ Jhall B
a good friend

friendsa (-
4878 friend audd L8 Ja sla 431 | Pre-modifiers s> a good s Juall -
friend ..4alS ) sl good s a 13-
"addl sy Ala) re " Gaa " friend-osl ) Ul ¢ Ll La e g g friend s Lelsi
"..22good-

1A Jhalld
my school friends

friendssa (i -
43 7pb friend audl A8 J3a £la 4350 Pre-modifiers sa 9 my school s Jual) -
) friends..4als | 513 school s my 13-
Sy & e school s my Opilaralilida) Lasie 1 g cplBaal ‘éi (sl 9l add 38 friends Aels-
) o) A gdallia agdl Ll g Ui AlBaal agdl )
school ..s my C:EUEY cpilaallads JMA e Al sina " friends” oal ol lna 13-

-Gl JEd) gﬁ
the headmaster of the school

L Jia g (08 Jaralial Ua.
headmaster ..4«l<! Jaxs ciela of the school o k-
LU Ladis the 31aYUI éi La 43 2 ad) J2a Ao 2ol headmaster Gl Jana g2 the 13-
.. 48 o 42 headmaster awY) o
) JS al) (s headmaster A sl iZas headmaster (sl 1) <l iy 258030 2= The
A o Vg marg paieal) g Eiaaiall ¢ra NS 4bay s g ¢ma headmaster J-headmasters)
Aaally a e 3 suheadmaster
. 24 2a (headmaster) Ul Jaa Ll of the school ) Jxall-
Al dayidd e s the headmaster o JiSH JSd Uaaa 13

sl Jhal) B
the headmaster’s desk

o desk .52 (-
.O#U8 Galaa Iela g headmaster’s s the Laa cplaaal) - ‘
A Adlaiayiaad ¢l Ugh: the headmaster’s Js&i Laxie o<t cddgla ¢f ) adu 38 desk ol Y-



‘ il e ,
((the Giasald « headmaster U &l L A 9 8308% piima Al glha (o Ud &idadi fad )31
) .. sl L gsheadmaster’s desk-
(desk)..mudgllaial) juaa o Usela JEal 138 b Jand) 13-

s el Al Sl Q,é
several students

students .. 4sac) o bl 03a B (il -
e ¢ dathall e Jul Y g ¢ Authal) JS (ud 3 gaailall ¢ studentswas e Usclu several Jial) -
e |
Ot 5o e g) AdaSUilla ] Jlal) 138 3 Janall 138 3.

:UAJLHJ\ d\:&d\ gé
we all

osanally Adlatial) éwﬁbMQY&Adyu\Mg\u&d\ Cra-
: we alldie-

Lot gA- we <
L Ja U sla g Jaall ga-all <

eosandally (glaially jrans A pana dgacs 128 -

sl JUa) B
everyone in our class

.osal) sh- everyone <
w3 Jia Cela 5 0 Jke A in our class <
ol (Blaially paa 48 gane Lyl dgand 120 5
- When the head is a noun, modifiers usually precede it
- Phrase like “of the school” follow it
- When the head is a pronoun, modifiers normally follow it

head ..} Jisils giaiandale " anal)" ) an) (Ll Y1y s lasic*

a0y Y, Lgild: (of the school - in our class) Jia <)<l s (ciinad) ¢ ¢85 Latie o8 g*
"head" ..l Phrases <) s3a b "ciliaa™ ils 13) e e " ¢ 6 (i) s A

head .- ay 3 gfaniBale " a8 jaa(Lal 1" 85 Lasis g*
rAbLudlg i) b U 83 Las
everyone in our Jiall 1aisils sa g someone in our school (A% Jla J& g lAli ) gisal) Ua
e S adaadl el s 8 oS! class
LA Y aaadld head"ska Ua yadal) g adalling (Al L anal) o Bad we all sl
:Pre-modifiers in the previous examples include the following main classes of
words
1. Adjectives
e.g.>> good



2. Nouns which modify other nouns
e.g.>> school

3. Determiners
e.g.>> a, the, my

A LAl Ay LAY i A Leal) AiaY) (8 4Ll ¥ anall*
Cra e Lial A ) glaadli 4y paall cile ganall 5 dsand) il jlaadl Galaad) Jgandlad) ) g5 d 13 1)
Gl sand) 8 AT WAL 83 ) ALl eV anall L guad ol REIS

)ciliall ) A gY) 4dit.
LALAN Nl e il ¢ gooddﬁ.«"';m! Shs clia"

):slacl) ) Auitill 4ddl)2-

LALAN Nl e Chal 5 AT slad Jaad plad”
my school friendsdles & school 4«ls: Jis.
sl & 9 il Lyl friends s al- school
friends (i1 Ja= school aw! Ligh-

):Caldaal) ) ABIEL) Addli3-
DB g Jualilly @ldasal) (fBULw g a, the, my Jie
:Exercise
:In the following phrases, decide which of the underlined words is
a. the head
b. a post- modifiers
c. a pre-modifiers

1. a big store
a. the head

.-u-"U“JA- store
LB (A-a
Ada - big
big ..sa e § Galaray GG store sl -
a. the head.ss a3

2. the store manager
c. a pre-modifiers

manager ..s8 l_l-
manager of the store ..0e &aali WY manager s2.9 (il & agie oaal g cilalS 3 U Lyl
manager .- 18 J¥s 2 s manager 4«ls Jx=- store
.ol L) 5 aud manager s aw!- store
c. a pre-modifiers s JLEAY) 131 ¢ sl U Sl AN g AT aud o puil-



3. the leader of the group
b. a post- modifiers

ol Y 2 LS U B3adG g (of the group) Adic J ghisal.
LN e Gt U WY ¢ ul 1) sa- the leader
b g Jaaga 13) ¢( 2 the leader dalS s (51 ) sxy 5L g the leader J»- of the group
(the leader) ..ol 2
235 Uigh the leader of the group Jsii Laxis ¢Sl 5 11913l 2l8UA i i ¥ the leader Jsii Laxiad.
) )il 2i8) 48 maddlaia) ¢ha
4s sans 2il8 (the leader of the group - 4disa 5 (e 5ol 2Byt Lo Uselu Janal) Ua 13-
). Adma
b. a post- modifiers s& JLid¥) « salia s2- of the group

4. the group leader
c. a pre-modifiers

i) sa- leader
bl Jarap 13 (i) 3 sla Liasl 5 Jarall sa- the
L&yl Jma 2 group
c. a pre-modifiers 2 _JLiay)-

5. someone in my office
a. the head

1 m ce pISE5 ot Yl 14 3
) B B L sl someone (s alsii-
g2 Jaa (& 5 (in my office ) Lasaes Jab by &5 By  spaca sa 5 (el 8- Someone
ey Ghall) aline B Gaud slac) Gl e g dgany ¥y 2ol jiladal) Bals 40 U S3 LaS o
a. the headsa JLEaY) 13-

Determiners

:Determiners are word which specify the range of reference of a noun by
making it

- (definite (the book
- (indefinite (a book
- (or by indicating quantity (many books

):cilaaaal) Determiners (H) () Euaally 3 gaiv oY)

¢ Qldaaall Al
Alaa é;uh..\ﬁ ‘euﬁ-hé“)-d\ @A J}a&ws s o le @"—I\l};ﬂ\

LA A Jaag B 13iCd2a]-
(LSl Jp S (gl ol diaa CiZah JUall Dighaad L (lisll) J 58 Ladie Ugh < the book Jie
LS 138 3 gay 13 o ) galey g A galnfisatiall g ol O Ena



L g ) Juad)i g4 ) a2 ;
24 2 (He bought a book) 41l alaal) (2 Ugd (i) () jpdy 38 (LUS) 4als 1Y) <: @ book Jia
L2 i 1) GS( 2 book- &als

e hhe gl AaaS ) T i and) Jrang 38 j)aBa gldaS ) ) jadia3-
: many books Jis
many .58 Ua saaall-

books ..s La aul
WS e Adma 43aS 0 0488 paad b Liselu 88 many Saswall
LS 0 B3 ¢S] g Sl (e Jtilleayl
Determiners can be either identifiers or quantifiers

1.identifiers
tell us either definitely or indefinitely which noun the speaker means

:They include

:a. Articles
(al an (indefinite articles
(the (definite articles

:b. Demonstratives
this, that, these, those

:c. Possessive Forms of Personal pronouns
my, your, his, her, its, our, their

2. Quantifiers
tell us either definitely or indefinitely the quantity of the noun

:They include

:a. Numerals
(one, Two, three... (cardinal numerals
(first, second, third... (ordinal numerals

b. Words
like: much, many, each, every, a few, little, all, several, plenty...etc

S ol b Mhaaaal) alddio Y 130 ¢ G AT Cmand Abfaasallads of Loyl ica
) . il &l gal) il palle i 0¥ As ganall]-
Agall) gidak Lo Xig i) ds ganal2-



WAl (S (Cldadl)) e cald Lyl cilid ) aL&0 Y A ganall*
): iy ail) < gai) cldaiali]-
).diaa e ) Al Y La ) gl Jdidad —adad ((Kdiaatiad) saualy A and) S 131 La U i
Laa e g) Sdaa A JA oS3 Allan) £ gy Caaatiall sualy J3le DA (e i Ua 3

Jadilhaal)
:<i) 9a¥)- Articles |
Lagd) 4 julaiVIdadlly Lgdae g (Agad) 43l (o oillSlan) Judy o L) cuad La @) 1) 2* @ an:
A 0800 Y agY Al IS iy a5 311 agW g )5 La o giilly 4B TR0 5 3 e A) uan and) Jaaay
et IS A jay g ASLGL Algl JSdy Laasay o) o)
iy g 31al*the :
) ..&lasaal)(Determiners — ) < Articles ale JSds oS! g

o LN Ielawl- Demonstratives <
LAdantal) jady Le agh b Laelud 4ddl) ola
sl Al ) o LAY g e uaaty oA A aBga daad 8 Giaadial) aolud 448 oda 13
LA) L L dua aand) paad e Ua Wiaela o This screen Jie
g sl gl o aUaeludl ) o LAY slam jadid o)) Lyl (Saall (e
WU il g gl Al el 13 IS glia pLudY) ey A o LAY slaad aladic U (Sag

rdmaddl) yilaall 4xSlall daua JI) - Possessive Forms of Personal pronouns -
LASlal) pilada g piladall 3 G (Ba oSl ) Aalay alil
> mine, yours, hers, his, its, ours, theirs4slal) yilas disa.
> my, your, his, her, its, our, theirizaiill 4sll) jilai dima-
e Ll 13 Ul dua) e ana (modifiers Wl pubud o Ciiial duaddl) jiladll 4Slal) disa
AILaiaY) (e 28T UL )
: My book J sii Laiad
)&E)dﬁ\ﬁjwuﬂ&cu& ‘é\l.\bg-w-i'\f
..JaMy - > modifier
..a=lbook - > noun

rdaaSl) gadA42.
LR o Agaiaiag & glidaaant) (LS ) La U i

iJadl 4xasl) 93234
alac Y -
Wl 0o o le A g)idalall) dsulul) el
: one. Two, three... Jie
435.3 ‘QU:J\ c.\AU

LG Qi O o e A g rdu ) das )
: first, second, third...J%
LB L

Glalse @
: much, many, each, every, a few, little, all, several, plentyJie



Exercise

:Identify the type of the underlined determiner in the following sentences
a. article

b. demonstrative

C. possessive

d. quantifier

1. This exercise is easy
b. demonstrative

b. demonstratives cisal 13 ¢ ¢xa exercise (A < Lal This dalstia

2. Their friend is here
C. possessive

wpgiia (118 (e (Bada ) La g o 5,80 Al oda Lihe| MBUA g ¢ ada Their 4alS
C. possessives sl  paid jadl 4slediva b 13

3.The visitor came early
a. article

a. articlese) sad 13 « iy 23 3041 AThe

4. Many people watch the show every week
d. quantifier

£ 5adIS UL ¢ gLy cpdl) (ulil) (e Adima 434S o o sSE Litke | Many 4als
Aasl) a3 A 130 ¢ Le A3aS o 0 4S8 Lithae | Many 4l 13
d. quantifiers <isaé

5. These sentences are interesting
b. demonstrative

b. demonstrativesst sl 13 « ¢ma s ) o L) AThese

Person, Number and Gender

:Person
Nouns can be



.(personal (humans
.(or non-personal (animals and inanimate objects

Note:Personal nouns can only be
.(animate (because they only refer to humans

Non-personal nouns can be either
.(animate (when they refer to animals
.(inanimate (when they refer to inanimate objects

iouiad) £ 98 9 MY 5 "OaREN" 38l (e a9 calidas g ga A V) JRiliu

L1} =:' :'S"' éﬂ‘
islant) 9o QL’\SAAS\ Y
A uad

3

JSldlaa g clil pad>damadd -

1adh gals

o) o b 3 gt LS cdlal) LSl o5 Mibdaadull) ¢ lamyI*
1055 o Lapuadidi ) s lanP*

i) gl ) jadd Latie A LS

chalaall L) add Latieddls Lt

We can also use the term “person” in a different way

:Traditionally, personal pronouns differentiate between
- (the person speaking (first person
- (the person spoken to (second person
- (and the people or things spoken about (third person

1st person pronouns: |, We
2nd person pronouns: you
3rd person pronouns: he, she, it, they

43lida 48y jhy (Person) glluas aladia) Lyl LiSay*
). Asaddl) jiladall (8 plhaalllds ¢ gaddivg G el Bale

(O B8 Apaddd) yilaal)
O Gl el oA g Gaatiall Gadldl)-
e NUL U

) ) il (e s 53 g Agl) GIRATAY Gl
) L) il S s g (g CIATAN) \ginfadal) s L) sl (ualille



: |, Wededil ¥ G jhall il
D YOU Jadd (AUl ikl jilaa*
. he, she, it, they Jedd S8 G k) il
:Number

.Singular (number) or plural (number) affects the form of almost all count
nouns, pronouns and demonstratives

:Here are some examples
:Count Nouns

(student (singular
(students (plural

:Mass Nouns are considered to be singular
(e.g.>> water, rice (singular

:Pronouns
(I, you, he, she, it (singular
(We, you, they (plural

:Demonstratives
(this, that (singular
(these, those (plural

):alae ) sa Add) Jiiiia ) AUle g gall

1 eSa ABajac Y

LAoda das.

). S0 ) g 2

)2 bEY) slawd- silaallod garall plandl) )) alieal JS&N o figd Lgilinan i 3 8a CuilS 2) g Sac) 028
it (o LaY sl iladall-on garall slan) )N JSA) calacy) e Talaie) 13)

AANSAVICEY) sl (o Al (lany MALLL*
Jia (02 garalis Loy
.astudents > «2_isstudent >

.&aamen > <2 daman >
MASE a5 slasYilgale i 09 ganal) pland) 131 calas S Tad @ jaS plan) o JaadUilia

A asingular ki ¢ g5 JALi< o gia il olawlal



.A8a; water, rice >Jia
Ay 5N 5 3 ke Ll JlteWlimy 3AL a gana yl) plewd) 130 ¢ i al LSl oagina i) elandl) ) Baadlilia

i ¢ ilaal)2-

244, you, he, she, it >

&aWe, you, they >

Lol ) i Lag 3 al) ) ey e G el gt el aSal) g

WS 5358 2o gde g piladal) 130 calae S Tl i yilaal) o Zaadls Ui

dla EOJL&Y\ 9@\3.

2_iathis, that >

tathese, those >

S A% slas Y Lgde 57 o i IsLand 13) calae DU Tag i o LAY plamd o Liayl Zaadl Lia

Whether the subject is 1st person, 2nd person or 3rd person; and whether it is
singular or plural can affect the form taken by the verb

(e.g.>> He walks home everyday. (3rd person singular subject
(I walk home everyday. (1st person singular subject
(They walk home everyday. (3rd person singular subject
) ARl pak Al g sl Adde iy 88 Jadl) (S
Jadl) J& o iy 38)3j8a o) aan(lal (S Ledie g)clliagling gl) cilale ) ¢ 6%y Ladis
rJla
1- He walks home everyday
ol g8 o Figlia (e lhoa jia-cili i b saHe <
: walks..zuad cwalk Jail) e (§) cidain 13
) sda sJe (e o be G Gijhall 13 ¢ g GEN Gihal) e Ja5 Al Aadlad ga Jadl) B (S) Q)
2- | walk home everyday
)oudsh il sl Jadl) JSi o iy allia (Jolies sia-d sl ikl
walk ..Jxil e () ciaai ¥ 13
(S) . 58 9 2 kall Jolil) il jhat) dadle Aleldl Cinal Y 3 j8al) Jeldl) J4Y) Gl

3- They walk home everyday

walk Jaill o (§)ciai al &l Gijh o claThey of ¢ aé il ( Joli-aas-cilli i LThey <
) .Jiall 138 & xaaThey oY



walk ..Jadl) e (s) iz 13
(S) . s& 5 dall Jo LAY i jhal) dadle Alelil Ciudal Yaaal) Joldl) EB) Ch ki) 8

Jadl) e Ol Al Laa) 3 _all) padudd) g sl quss IS 138 9 Jadll s al (35 (2 Ciliallalaan®

WSl e i T ¢ sl g Al g)a jia-deld (s (2)1 Jaal
Wil e A W1 cranad g A0S g)a jdandulll Ci pha(4d) pmasa (3)) JEa) ‘__,_3.
:Gender

:The 3rd person singular form of personal pronouns can be affected by gender
as follows
1. The masculine pronouns “he” refers to males

2. The feminine pronouns “she” refers to females

3. The neuter pronouns “it” refers to inanimate objects, or to a person or
animal not yet regarded as male or female
("?e.9.>> (“Who is it

)iouind) £ 5d) op Gl £ guca gall
AUl £ gV puial) £ ol Lgale 5T 38 Apaddll yiladall 3 jdal) AN Gl (S

Sl jianall]-
Lossile gt He <Jia

Euigall jraall2-
LYo 3 gl She <Jia

Llaall jianall3-
i Ae gt <Jia

L) dlaa
B AT S Cpiad) e 3 gl Ay SalaiIAat) Al oY) L. A5 o S s 13 Al Y o) s gluad
). omdadle o Cias al (s

rfia clina A slaall jredal) aadiabiise gl jSdadl gaad) gl adldd) S 1) G Y S )30
: “? Who is it” ..Js& Sl cllile aaf gk Laia
PErson ..l pagady 1< Al g JS3 S 13) Le alad ¥ G815 bl (3 sk a2 gy Ad) e o Uin
9 uisall yilad adiiad of Saal) (e g cAra laal) padallesiiiod Saadanimal A ga gadlal
JAaaia clagd (Kl g dra Siall
The distinction between male and female may affect our choice of lexical items
(words or phrases) that could fill a “slot” in the structure of a clause

Man, headmaster, woman, actress



e.g.>>1. He is a good
Man and headmaster can fill the slot in example 1

e.g.>>2. She is a good
Woman and actress can fill the slot in example 2

) CilalS"(la jdall pualic™ dpanaal) 3 ghlll LAY o b AN g AN oy (38N
Adaall MO Upili 1 8 il e
(words or phrases) ... o ke A* lexical items
O i AN o liadl gl dalsl) (St g Sah o Al 138 (RELLAL S 1Y) Alaad) sy B
' LS gl ity gl i) 8 BN i LS '

Al clall) Ll
Jauman <
ssheadmaster <
s)_salwoman <
4liasgctress <

s Ja¥) JEal)
He is a good

LARLL) Any Y slan) (e fWIBEY QD Sad of w6 131 f B 3 La aa g
s (He) 5 0580 e hase gl G2 ¥ E1L8 (e theadmaster sMan paiius
WOlalia Glant) 131 ¢ oS3 e 3 gay
slasd) o giay ke (He) o &) e 2525 i¥actress swoman padied of gokiied¥ ¢l
,_aJS:\.AS\

N Jlial)
She is a good

SR Any Y pland) (e f WY BANKID Sad o w6 1Y) o 8 3l LA aa g
s (She) oY 5 &Y e Glasm Gl G2 Y E1LA (e Bactress swoman asidus 4
WOabia Glan) 1) ¢ GLY) Jo 3 gy
A 9 sl sleud) o 3gai &iga (She) oY 1080 Bheadmaster sMan awd) aladiulicay ¥
) iridhe S3) (uiad) (bl o Aiiallplont) Alaial) e Ji
:Note 1
The suffix “-ess” is found in a number of words referring to women, but there
are other words referring to women that do not have this suffix
e.g.>>aunt, niece, nun

:Note 2
Most nouns in English can refer to both male and female
e.g.>>friend, neighbor, cousin, teacher, nurse



rl gatallians Uia Lial
: u{)‘i\ a2 galal).

ractress , empressdia calsl) AT AdLZS ) Ja g ( -eSS) 4had)
o Ll s ) CalSl) (e 338 b a5 4B o3
AU Auaadia LY SRall Ll i il La o shal yual WUasgmpress <<ials
A Amada LY SLall Ll ghinily Le Alias WUnagCtress <<dals

:d&cﬁaﬁ\oh MYJ;M\&!J#Q&IS&UA RN
LA daequnt <
LAl il i edniece <
LA)onun <

rAill) Ald gatall

i Al G Ay o) 431 (uSlaa 138 g dae GLYY 9 sSALle 3 a4y Jalady) ARl B pla) alina
i caudld Gudalle g aaad o Ugle
LA ¢ gaafriend <
.o aneighbor <
) A — dae) Ayl ¢ (JA — a2) Ady) ¢ (A — 4w () ((J - p2) cicOuSIn <

LAalaa ¢ alsateacher <

WAd yaa ¢ papaanurse <

SEUYY g eSA) e 3 gal dg Sl 4all b ela¥lada S

L85 (o giaally AN (ay 39 glilay A Jgand) cpa gl o gaallii o 3Y (W) Aa il 215 A

= il jreda oY) Cijhall 8 ad) g*
= Wegeaall spada Jg¥) ikl B ol g
3dall = yOU Sdal) ssada AU Cihall B ad) g*
gaal) = YOU gand) sada (A Gkl (b il
= heaiall Siall jrada GAY i) b adlg
= sheaialliisal juada G G jlal) b adl g
= jtatal) slaall jracs GAUNE al) B ad) g
= theyzaaal)) Saall-cuisall- Siall) jraca ) Gial) b a8l g
:Exercise

:Choose the appropriate pronoun

1. 1st person plural pronoun
a. he
b. we
c. they
d. you



W) il B gl s an s 3
ofud gax Guhe 3 (£a3) 38 030 4 o
! --d#\"@ K 4‘.‘-‘3&%)‘3‘ ‘,S\ Jais K] (R agrar .you Jthey Iswe
Ol dijh-zaayou <
b el ¢ Gl G jh-zaathey <
b. west i sall T3 sl i h-zaawe <

2. 3rd person singular masculine pronoun
a. they
b. it
c.you
d. he

ﬂm\uﬂ\gﬁéﬁjdﬁnwdﬁf
LoMfdud ENE ) B ad)y jialyOU<
") Vo g ATl Ada pal) ) SRS Y SNAY Gihal) & agasaahie sit sthey
o i 1) cpan AdSly MUY il B o) 5 uaathey <
" iad) e g ALNEL Ada jal) ) AL T3 e Laadis Ll g Y Gl b ad) 5 LaaSishe <sit

Lo 13 alae AdSlg 3 jha g G Gl A 4Bl g saanait <
d. hesa i sall 13 ¢ Sie ga 53,80 g CIEY) Cihalld 2Bl 5 ahe <

3. 2nd person singular pronoun
a.you
b. 1
c.we
d. she

) i phalld aB) g 3 jha prads
Rt 13 (¥ Giphal) B andly jilaawe <l
Lodaiad 13) ¢ Gl Gl B 2By aashe <
. YOUs& gl 1) ca i g g ALY Gkl 8 aB) g saayoOU <

What is a clause?

A complete sentence needs at least one finite, independent clause. A simplesentence is
composed of only one finite clause, so that the structure of a finite clause is identical with

that of a simple sentence.
" slaadl 5l o 2all" clause ) i 23 2 L
..(finite, independent clause -4xlic| & 4l goddaa o8 ) e JIY) o zUad alilS alas oo

sah\;@ﬁhﬁc\‘)ﬁéﬂﬁa‘m‘,m‘g}nb‘)ﬁ‘;‘c &Y\&g#uimyu&mﬂmﬁﬂd\@w\@aﬂ-
LM agldic) e Al 5 eddaa o i e T e (g gias a8 "



¢(22ad) 534 5 e 3l yedad (61) It shows time, person and number : s "3334" finjte AdS Jixe*
oAbl GiEy day Juadilly Gl ) 3 kit

<* ¢! ) That it can occur own its own as a sentence : s "gicl ;2" independent 4alS i=e*
o eaS W ey daasd ol Sy

He is a student who likes to study hard /Jts-
Measlye e sl o8 - one clause "2 >>He is a student
< ey an ol Sy Y ¢ "l g) anlaie) e - independent” & S8 i
.. "eaalgo e o8 - one clause " & >>who likes to study hard
¢ "anldc - dependent” & gl il
.. Alaal) el Al i &5 (e 5 (who likes to study hard) Jsii o gedains ¥ 439
(Alaie) alea a Uy 4liis alea o585 o (Sar Y 4l 1) pseiall 5 iaall AlaiSa e aleal) Y-
((odina alas — 4 o alen —adar alen ) 1d (e JaA gl sl L280 Ll 5S35 LS "adagull el *
.. 18 2l s finite clause e (5 5iad adawnll aleall-
finite ) s Lo iyt 5 alandl alasl Y lai) 1 ¢ finite I e Lo <o yes of 25 Lasied-
finite clause = one simple sentence®
Here are some examples of one-clause sentences:
1. lhave just telephoned Mohammed.
2. Hewas my best friend.
3. Thisis his photograph.
4. At nine o’clock, weallgathered in the classroom.

5. He always does his work perfectly.

lhave just telephoned Mohammed /1J%-
"subject— JeWl" >>|
" verbal group - 4lzé 4= seaa " >>telephoned s have
(O Camd g just AelS
" helping verb - xclus J23" >>hgve

" main verb - (lul J28 " >>telephoned



(e & Bl dhy geaal 50 ke Ugd - it is one clause and it is a sentence) -
Hewas my best friend/2J%-
"subject— JeWl" >>He
"verb — d=dl" >>was
oalen A gl Gl g eaalg e e oo 13-
Thisis his photograph /3JU«-
"subject— Ixin" >>This
"verb — J=dll" >>js
oalen oA gl Gl g eaalg e e o 13-
At nine o’clock, weallgathered in the classroom /4Jbs-
" subject— ltie " 2 5" pronominal group— 4 s 4c sexe " 4 >>we all
"verb — J=dI" >>gathered
oalen (oA gl Gudiy g eaalg e e o 13-
He always does his work perfectly /5Jts-
"subject— Jel@Wl" >>He
"verb — J=dI" >>does
Loalea oa gl g eaalgesle 13 ¢ Ladl aal g dad 5 aa) g Jeld Ll

Each of these one-clause sentences has a subject and a predicate. The predicate is what is
said about the subject.

isle s siad Jaall oda (pa 0 jad JS*
"xise o) Jeld" subject-
"4 2" predicate s-
.. Jeldll e &aati e sa predicate -
He always does his work perfectly :ow&ll JUall 8 Jus
"subject— JeWl" >>He

5" He deldll ) st (5) 4l xie —predicate” s# o2 L JS >> always does his work perfectly-
Mz Jadl) Jody predicate ) of )" Ly Jadll Jais

At nine o’clock, weallgathered in the classroom gl JUall



" subject— Ixix " >>we all
" we all i) ) vie (g) 43l) 2 —predicate">> s JUall (e i L S
predicate J ;< 3> s (At nine o’clock) 13-
predicate Jl s« ¢ 3> Lail s (gathered in the classroom) s
predicate J (s« ¢ 3> Ladl s (gathered) =&

If either of those two parts, subject or predicate, were missing, the sentence would not be
complete.

However, in an imperative, the subject is usually unstated.
e.g. Go study.

When the subject is missing, we assume that it is “you”, the person or persons spoken to.
The previous sentence can be expanded as follows:

You go study.
. AlaiSa maai (o 4laallé 2 gide (predicate s subject) o sl asf (S 13l
.. (predicate s subject)l 255 (3o Y 4LlS alaa Lia ) 131 13-
..(unstated- z »=s e e ) OsSiale Jeldld ja¥) dapa 8 oLiiu) cllia (S -

aleall (expand— g 55) Liagd Wiy 5 aleadl 813 sa 50 4 sgie in 43S) gl gt ¥ 5 Jelall Sy o T
LAl Jeldl) Jasd

tJG Qo e
.. el A Lghaa alaall s34 >>Go study
Y o palaally lali 83 >> 18 Jaall g5 o5 S3-
Statement -1
Question -2
Imperative Lay =5 5 >>Command -3
Exclamation -4

Jasll ¢15i (e & 55 5 Command sl Imperative 13-
..(which normally we don't states the subject in - L Jelilly & aifale il 5)

.(that it means you -l clisy 43) <<(assume -l i) liSe oK -
Lol g 3 ealall ) alaind 5 gide Jeldl (IS 13 ay

: SUlS (expanded— Juadilly alSiic als3h) of LiSey il JUial) a6



You go study< J s
..Set down ) Stand up ' Go study< Js&i Jad ¢ clld J58 Y adoalall A (K1 5 Jeldll 0 Ua >>You
oY) Baa el SN Y e A
The subject of a clause is a nounphrase. The predicate is a verbphrase.
Every finiteclause has the following basic structure:
NP (subject)+ VP (predicate)

The manbought a new car

LBl Ll A8l <l yualaall 8 (5 )S3 LS ge"4gan) 4laa 408" el o jle 2 clause ) 8 Taisall 5 Jelall-
. Qaadilly 4ganl) o Ll

L Adlad o Jle cavsn predicate ) S 13) ¢"adad ales 408" 4ilaé o e g predicate VI -
Al 4l saclél) asty finite clause JSs -
NP (subject)+ VP (predicate)
il 5l Jeldl a5 NP-

Tl I Jelal I siasall a5 VP

The manbought a new car: J4 JUall & LS

o Agaul o jlie (5 NP s& Sl udy 5 Jeldll 58 >> The man-
. 4ded o sl (o) VP ga Ci gl Ludly 3" The man" deldl) ) sl g8 >> bought a new car-
s okl 1 yp*
.. S "predicate— 4l diwadl" e Goadll  addtuy M-
."verbal group— 4izdll Gle sanall” e Giaadll 8 addiey 8 o

.. JSS "predicate— 4l diwdl” (e Giaid olieriinl JUd) s -

4idxdll » JLall The Verb Phrase (VP):
The verb phrase (VP) consists sometimes of a finite verb only.
e.g. We all waited.
More often, the VP consists of a group of words (verbalgroup) with a finite verb as its head.

For a clause to be finite, there must be a finite verb in it.




¢ "aaladl) aleal) aniandadl) o jlall e e slaall ey 2al

..(what the verb phrase consists of ? - f4slxdll o jlall 4t () <5 () L)
.. ki 2l g finite verb e s sisy >> VP-
e gsisy 8 VP -
verbal group - one finite verb Ll -
We all waited : Ul JUall & LsS-
"aaa - finite" s» Ll 5 dxill s >>waited
.38 22 finite (sire ga Le oST J gdin o
.."finite verb— 3334 Jaé" e (5 ¢ia3 "verbal group - 4dzdll 4c gaadll” -
.J8 e head ) LS8 Ladie (5 8N cauladll 4c saaell "the head— ol )" sa 2334l Jxdll U -
: verbal group I 3 13/ -
.. finite verb ) 4.4 58 head
.. (clause I 8 (s1) 4 finite verb 355 (e &Y 334 clause I gl 131
.. finite clause e 058 OF g 4ali alea 23l 131

.. finite verb L 058 of s finite clause <) 13-

The verb can be either:
1. Simple
A simpleverb consists of one word.
e.g. is, was, walked, sat, did
2. Complex
A complexverb consists of a verbal group.

e.g. have telephoned, were placed, were waiting, did not like, could see

dina 2D Lo -1 Ll 058 8 Jadl)
Ll -1

__eh\}wsucajlgc:m‘&ﬂ\-

is, was, walked, sat, did /Jie-



bl JladY) Lgpans LIS o34 5

dixall -2
. (3a)5 dad e ST (5)) dulad de sana (e o jle 1 Sl Jaill-
have telephoned, were placed, were waiting, did not like, could see /Jis-
CE L el - L 1) — aelie e slial 4dadl) e ganall 038 b Uigh-
have telephoned -
2elus Jxd >>have
bl J=8 >>telephoned
.. Jalsll Jadl (o) (full verb) s 5 JAT (caves (Main verb) o) dadll cans G Lo Uainly -
were placed -
2eliua 28 >>were
bl J=8 >>placed
were waiting-
2elius 28 >>were
bl J28 >>waiting
did not like-
el J28 >>did
@bl dad >>like
Alad 4c sanal S w0 J28 9 >> did not like-
could see-
2 bus J=é >>could
bl J28 >>see
sddakh yiall A o23a4ll JedYIFinite vs. Non-finite ((Verbs)):
Finite Verbs:

Finite verbs show tense, person and number.

The verb “be” in the following sentences is an example of a finiteverb.



Heis here. Theyare here. (person and number)
He is here today. He was here yesterday. (tense)
02anAl) JladV) Cay g
20l gl 5 g3l Ul S gl gl
105Se B Camy G Al (e 03388 JadY) e fi 5
Jifias - g b - o=k -
1058 B s e 2l Aali e
cliGyh-  gbayh- Jol e
D OsSs B Cua (ge 22al) Aali e
g e
L 33aAl Jadll e Jlie 58 4l Jasll 3 (435S0 Jad) “he” Jadll*
055 35 (be) Jaill o << 4pla 4aslaa 5 iy *
is, are, am, was, were
past participle<<been Layl
San A el e S 43530 Jad 5 G leall o34 i (5 yiann
s suSl Jad 2L 13 ¢ Clli ol a5 2580 Jeldl) >> Heis here-
.. areai il Ja 2l 13 ¢ Gl Ga e s 5 aea Jeldl) >> Theyare here-
< ofleall b Jelall aaall 5 3l U e WY s (be) 435Sl Jad o Lia Laadli &) 5
.. finite verb sed 232l 5 a8l e Talaie) Jadll a5 13-
. is sl 435381 Jad 5 palal) ey (8 4leall s34>> He is here today-
.. Was zual 43558l Jab 5 alall (1) o 4laall 538 >>He was here yesterday -
Ol Ui alieY) e Adlal) o i-
Ll 52l 5 el ade 5 6 finite verb I -
Finite verbs can have three forms:
1. The base form (simple form) of the verb
e.g. walk, talk, drink, speak

2. 3" person singular form of the verb



e.g. walks, talks, drinks, speaks
3. The simple past form of the verb
e.g. walked, talked, drank, spoke
)50 3 Led oadadll Jledy)-
oo Jadll (Japead) JSAN) ) JSE -1
oo sn LS Jadll L o(—ing s 5l —ed 05 ) bl ) 53 Jadll sa 13-
walk, talk, drink, speak /Jis-
o Jadll ) oY) IS e aliad LSl oda S -
Gl 3 jaal) B Gl Faa -2
o () s 2l Gl Galall dedle Al il Jadll () S Lin-
walks zaai <<walk /Jis
(B ) el (a3 3 Gl i plall b 5 3 s Jelb il ()5S Laie Jaill e (s) 4edlall o2 Canmai s
talks @uai <<talk
drinks @u<ai <<drink
speaks gu<ai <<speak
il ) bl dapa -3
058 3 Jadl) (o G jai Tasen ol
hiia e - plita -
—ed 4 Lial >>walked<<walk /Jie-
—ed 4l sl >>talked<<talk
o ealall ey Alla b ) LegdSs e Wil 5 —od Legd Litiald adutiall Jlad¥) (e Lad ki) (38—
drank>>drink
spoke>>speak
PN UA)MB@LA@JS&MMAM\ JdY) e Lea Shasll laa -
Exercise:
What is the form of the finite verb in each sentence?

a. base form b. 3 person singular form c. past form



1. The manager talked to the employees.
c. past form s Qlsall 13 ¢ J2dll & (ed) 25a sl (malall (e A 2 5 talked 2 J=dll-1
2. He drinks coffee every morning.

13 €3 e s ke g Jedll (o s Lay) 5 (s) 2jtall Cllall o plall dadle 3 sa 5 2aal 5 drinks 5o J=ill-2
b. 3 person singular form st <l sall

3. Ahmed and Khaled usually study together.

¢(5) 2_kall CAAl Caylall Aedle 43 0n 50 Y L) 5 (ed) 42 23 5 Y 45l 1aadU 5 study s J=dll-3
a. base form s ol sall 13)

4. | went to the mall yesterday.
c. past form s& @l sall 13 ¢ go (eula¥) J2dll (e alall dapa ga 5 "ablatia e J28 2" went s J2ill-4
5. At eight o’clock every morning, my father goes to work.
.o aall GEN okl JSE a5 goes sa Jxdll-5
b. 3" person singular form s < sall 131 ¢ Jedll 44es @5 Lidal goes<<go
s3a4 il J8¥INon-finite verbs:

Non-finite verbs do not show tense, person and number. The verb “come” in the following

sentences is an example of a non-finite verb.

e.g. | expect him to come soon. We expect them to come soon. (person and nhumber)

He is comingnow. He was coming at the same time yesterday. (tense)
rddah yall Jlady) Addlie ) Jasii-
Ll 5 el 5 et Lo 5% (e32a501 JlxdY) (51) finite verbs I of Lide 13-
..Non-finite verbs e o S3 (3o Ll (uSlaall-

LS i o8 e i L i) 23l 5 el g gl T Lgale jelai W ) JLadY) o teddad sl Jladd) -
(2

ik pall Jadl) e Jlie 40l 4liaY) i “come” Jadll-

Saardl o el o sl U e o) s 5 Y sddak el Jlady) 13-

| expect him to come soon/dJGs-

We expect them to come soon

el 5 il (ilaall 3 el



(1) I Gkl 8 Al o jie Jeldll >> Y aleall be
(We) ) Gaolall 8 a5 aen Jelill >> 4l aleall o
Lol s addll i Y s Non-finite verb Y i s WS iy Gailaad) DS é “come” Jadll -
He is comingnow/dJGs-
He was coming at the same time yesterday
Lol BA Sa i Y "coming” Jadll-
(g b)) palall (e ) (8 138 >>( He is coming now ) (oY) aleal) 8-
a5 (A 138>>( He was coming yesterday ) 4xlll aleal) 8 -
.. Non-finite verb s "coming" J=dll 13-
[(be) 435Sl Jad A hul (Sl
(is) s alaal) b
(was) 4l aleal) 3
..(is — was) "finite verb - 23a& Jad" ga 4353l Jad 1)
Non-finite verbs can have three forms:
1. The infinitive
The infinitive has the same form as the base. It is often preceded by an infinitivemarker “to”.
In some cases (e.g. after modal auxiliary verbs) the infinitive is bare (without “to”).
For example: | am waiting for him tocome. (Infinitive with “to”)
He can come tomorrow. (Bare Infinitive)
2. Present Participle (also called —ing participle)
e.g. walking, talking, drinking, speaking

3. Past Participle (also called —ed participle)

e.g. walked, talked, drunk, spoken
ok pall JdY) jpa e o ylai okl
:J..\m.qj\;\.ir_.ya-l

() JSE) 4pulod) dapa a4l jaad) daa

.. (s oxad)) Jadl The infinitive verb) J8 S (& 5 Haadll daa e 2 (to) 4alS-



) 4x pall —bare) =3 juadd Laua ("auxiliary” e ludl JdY) (mey Jie) SV G A
. (t0) HalS alaall & (S5 al 3] (52 el

.(t0) sy saadll e s e s bare infinitive I 13-
SO aall A 13-
to &= infinitive-
L0 Huadl o pall juadl ) Bare Infinitive = 5 >>to O infinitive-
| am waiting for him tocome /Jt«
.. to a=infinitive s >>to come
.. Jadll L) JSEN g8 130 ¢ (Base Form) 4msbul 42ua s >>come
.. (coming) il <<—ing L&l caai ol 5 ¢(came) gaall omlall (o) & S Al Aleal) o2a i
.. t0 s infinitive s Us Jaills to el 5 come 13-
He can come tomorrow /J%s
..verb "auxiliary " << 2 can Ua Ll
:sla(come) s can 2 Jadll-
"43ulu) 421 - Base Form" -l
(9335 —finite) L s 13 " )aas dxua — Infinitive"-o
.. | come here every day< 4leall 238 & (come) AalS] 4lia (il 58 ~a
..(935% —finite) <& come>> (I come here every day) 4laall 232 &-
¥ " jaas dipa —Infinitive” sl come ilud) aleall & L=
.. can<< s sverb "auxiliary " = (-
:0¥ "3y sl e y2as - Bare Infinitive" (e s-
. (t0) Ay (31l &l Jadl) -
: Present Participle-2
.. (ing-participle) = Laayl e 385 ¢ (<ing ) 4) lilas Jadll 8 5
walking, talking, drinking, speaking /Js-

.Present Participle == (—ing) 4d) ilias Jaé (sl 13-



. Past Participle-3
.. (ed-participle) L) (oo 38 5 caiibid) ) pualaall (o o<1 Cigla s 5
oifia Jadll 138 IS 13 Alla b -ed 4l Cibimy ol (a5 8 Jad JS 13-
. LeglSE iy o 5 (-ed) Legd Libals (laliiia (Mad Lea >>walked, talked /Jlis-
o LeglSs patd olaaiie e (Dlad Laa >>drunk, spoken Wl
Base Form(simple form)>>drink 13-
finite>Past Form>>drank

non-finite>Past Participle Form of the verb drink>>drunk

Base Form(simple form)>>speak
finite>Past Form>>spoke
non-finite>Past Participle Form of the verb speak >>spoken
Ll g Gaddil) ol el i ol et Y>> drunk, spoken®
Exercise:
Decide whether the underlined verbs are:
b. non-finite a. finite
1. He was able to walk after physical therapy.
el ypas Ladie jadan da >> walk-1
walk d=dll s o oy Ja . He Jla They Ll -
They were able to walk :J séé--
.. "finite verbs - o)i3ae (Sad" Las were 5 was 0¥ ¢« were Ciaaali was U ie U bl
."non-finite - S3ae 5" o 13 ¢ s LS iy walk dedll of Jaadl -

b. non-finite s <l sall 13 ¢ (adil) ol aall oy yiady ol sed-

2. He is making a chair out of wood.
£9 Chang 13l Jeldll Ll s >> making-
They are making a chair out of wood :J s&%-

.. "finite verbs - ol3ae oMai" Laa are sis oY ¢ are casuald js U e Lo La-



b. non-finite s& <l sall 131 "non-finite - Sae e" 5 13 ¢ s LS iy making Jadll of Laadu-
3. He made a chair yesterday in his workshop.
9 Caans 13le Uia 4gia 3l o il a5 1 >> made-3
He makes a chair everyday in his workshop :J s&-
o Jadlla e 30 G e 13 ¢ g, finite sa ool sl 13 epa 3l Cunnn Jmdll 33 38 Slad 48] Jaa S
4. You should spend more time studying.
¢ G ke Jelall Wl o >> spend-4
They should spend more time studying :J s&i-
He should spend more time studying
| should spend more time studying
..(should) s 5 "auxiliary model" 2= els ¥ dal i ¥ spend dad) of Jaa Dl
b. non-finite s& <l sall 13 "non-finite - S3aa ;" s (should) 2 sla ) spend Jadll s-
5. They spend time together every Thursday morning.
99 yiains Ja ¢ a1 Jeldll Wad o >> spend-5
He spend time together every Thursday morning
odadl)l i aaie
LAl o3 b o sdall CEl Caplall JSE Leadiiad Ll JaaDle

a. finite s& <l eall 13 ¢ "finite verb - Sdaa J=d" sed s Jadll oY -

s3daa il A oddadl) o jlall sl o jadliFinite vs. Non-finite ((Clauses)):
A finiteclause is a clause which has a finiteverb.
e.g. He is waiting for the headmaster to come.
The previous above example has a finiteverbalgroup, “is waiting”.
oY ad bae 5o pualaal eay Tl ol U S5
L Sima Jad e (5 ind o g azesinall o il 5 o jalle

He is waiting for the headmaster to come :JUall Juw e



& B i (is waiting) 2 s "finite verbal group— s33ae 4ilad 4c gena” e Jlia 8 el 555 L
."finite clause - s33aa 5y 4l o lc"

¢ oaa) g oddna 5 8 sl o jlic 5 oanly odiag Aided Ac gana Lia Ligal 13-
.. (One finite verbal group & One finite clause )
.(is Waiting) (A5 33 4ilad 4c sana o (5 i LY sddaa 4ddad o i 4l 5 e & >>He is waiting 13-
O 2 s " finite verb" e siiny o s finite clause o o3l
(finite verbal group sl One finite verb )
A non-finiteclause is a clause which does not have a finiteverb.

In the previous example “for the headmaster to come” has a non-finite verb “to come”, but
does not have a finite verb.

At least one clause in an English sentence must be finite.

ona Jad e (Sl Y ‘;ﬂ\ o_yail) ‘;A:ai’\u aad) 5 yaall }i o yluall-
.(non-finite clause) s S3se ye Jad Ll 5 Sdaa Jed Lal (S o) 131 T30
for the headmaster to come /Gl JGall & -

- oddsa e o ol o jle" ola Lia 4S5 (to come) Jadll Ll ¢ (the headmaster) sa s Jeldl) Lual -

0" ae das dapa e els ) 6l ((Infinitive with "to" ) & 58 < " non-finite clause

Jad Sle s 5iaa Y (S 5 (to come) sps S3ae e Jab e (5 sisy (for the headmaster to come) 13-

B : e gsing T
a finite clause e o g A B e 1)
.. 1 Q“'Lf}:‘%!y :
a non-finite clause — . .gVverb-
[ Q“' Lf)hr!m} 1
a non-i Ly

Loddae JBY) o sanl 5o i ()55 o) Gaay << 4y el 4slll i
- finitessiaa” o Al o3 )5S o qang 5 B e saaly o e (s s (f o << ALS alen Lia )l 130*
Simplesentences consist of onefiniteclause.
e.g. Heisastudent.
.."One finite clause — o3l 5 o33a4 o ja8" (1o (cONsist — <alliy) 4dasll Jaall-
He is a student /Jis-
.finite verb - 2aa J2d" g4 >>js -

adasa alaa 038 13) ¢« "One finite clause — s2a) 5 s3aa 5 " Lial-



.. 4w ales W =3 One finite verb @< One finite clause 13-

Compound and complexsentences consist of two or more clauses with at least
onefiniteclause.

e.g. Heis waiting for the headmaster to come.
."two or more clauses - JiSI sl (i )%" (e (consist — <alliy) saaall 5 48 sall Jaall-

b a8l 038 (pe saal g (5585 () cang 0588 e SIS e (g giad cilS 1) oy il il (e saal 5 JBYI e
."finite verb— 33ss J28" e (clause-s_idll) oda (g 5ia3 ) ) <"finite— s3daa"

He is waiting for the headmaster to come /JU-
."finite clause— s33ss o 3" & >> He is waiting-
.."non-finite clause - s3>« & » 8" & >> for the headmaster to come-

aliaw Cudl 13¢15 > (is) s 5 L finite verb &= finite clause (o s siad LY 4alaiSa alaall o2a 5-
.."finite clause"

Verbal Groups
bzl Cile gendll
Verbal Groups :
Verbalgroups can be of five types:
Type 1Modal +Infinitive: could see, will come
Type 2Have +Past Participle: have telephoned, has begun
Type 3BE +Present Participle: are coming, were waiting
Type 4BE +Past Participle: is grown, was broken
Type 5DO +Infinitive: did not like, Did you know?

& e Cuaall W G Al (Verbal groups - 4dzdll Sle seaall) e Was JaSiun o palaall 038 -
4.1.\\)]‘ a).;'a\;.d\

s )il 5 () sSE 8 adadll Clle gendll-

Modal +Infinitive:Js¥) g s

tst s ¢ la L S5 3l Modal Auxiliary 1 ¢ s S3-

.(Infinitive - yxadl) agdl s can, could, shall, should, will, would, may, might

o_palaall e clld 4 SN LS Ja) (Bare|nﬁnitive -.JB:;.’«M JJAAAX\ K @}Aﬂ Jw‘) = allal) oda Lf:'
«(an infinitive without "to" ) s (an infinitive with "to" ) L_S3 «aglu)

.."Barelnfinitive" = (The infinitive with "to")



Modal +Infinitive:ds¥) & sl e Jlia-

could see -1

Modal s >>could

(Barelnfinitive -2534ll jaadl 5l s pall jradl) » >>see
.. Modal +Infinitive Ll La 13-

will come -2

Modal s» >>will

(Barelnfinitive 25341l jaadll 5l s pall jradl) s >>come
.. Modal +Infinitive Ll Ua 13-

- 4ledll Cile ganall JY) g sll apnslly 1aan

Have +Past Participle:ll ¢ sill*

Had, Has, Have: 055 -

have telephoned -1 /JG«-

."telephone" J=4ll Past Participle 4 s» >>telephoned

. plaiie Jad 4¥(—ed ) LoV Jadl) o Liial-

has begun -2

U A Jadll JR& s 1M alatie je J=d 54 "begin" J=dll "begin" J=éll Past Participle 4! s >>begun
..Past Participle 4!

.. (Had, Has, Have) + Past Participle 13-

(e e ol aliiie o Ja) Jadl) g 55 e ey olls-

BE +Present Participle:dill g oil)*

(—ing 43l lilcas Jaill 58 5) "non-finiteverbs- 3 juad) J=ill" 1 JUaS Gl Present Participle b_S3-
..(—ing) Jadll e Cin=i Present Participle Jl dlls 8 of 5!

.. (finiteverb -33s« J=3) s 5 "is, are, am, was, were, been" st s (BE) 43 5uSll J=d Lial T3l
.. (finiteverb -32a« e J28) sa Present Participle s
are coming -1 /Jt-

(BE) 435S J28 >>gre



(—ing) 4 “ilias J2dll >>coming
were waiting -2

(BE) 43518 J28 >>were

(—ing) 4 ilias Jadll >>waiting

il e paaall G g il a 13a-

BE +Past Participle:g i g siI*

is grown -1/Jb-

(BE) 43538 =8 >>is

"grow" J=ill Past Participle X! s >>grown
was broken -2

(BE) 43518 J=8 >>was

"broke" J=ill Past Participle 4 s >>broken
.. 4dadl) e sanall il i1 il ga 13-

DO +Infinitive:g=add) g sil*

oyl 5l paddll" 35 (finiteverbs - s3aa Jlail) (& 433 JladY) o2a¢ (Do, Does, Did) ¢sSi 3 DO -
.(Infinitive- Jaadl ) agll lilias "axel i agia 3

did not like -1 /JUs-

DO s >>did

(Barelnfinitive -2534ll jaadll 5l s pall jradl) s >>like

:Barelnfinitive Jl:aks ;s la*

.."Modals" 2 b -

L"DO" 2 s B 5

Did you know? -2

DOl =Wl Aava 8 >>Did

..(Barelnfinitive of "know" — "know" J2ill 3534l jaadl) 5l my pall juadll) 8 >>know

Akl Gle ganall Gudll g i) g 13-



The first four types can be combined with one another to form more complexverbalgroups
like:

Ahmed will havefinished that book by Friday. (Type 1 & 2)
He has beenlearning English for four years. (Type 2 & 3)
He will havebeen learning English for five years by next October. (Type 1,2 & 3)
The president could beseen by everyone. (Types 1 & 4)
He is beingcalled now. (Type 3 & 4)
oSadll (30 131) "combined -8 55" 158 s o agiSay (@l U ) ¢ S (Y1 g i) A5V an Y1 gl Y
) pelan o USSay (80 g o Jan o Joa) T 61 ailadll e gasnall A lpem grsnal (ianss pec i of
N (S-SHPVEE J5) EQUR A2
Modal +Infinitive s& s Js¥1 g sill Lilay ; -1/JEa Jas e
Have +Past Participle 4 5 S8 & 53l aa
Ahmed will havefinished that book by Friday -
LSl e il da g e J Y1 g 53l Swill have finished

138) 2xall 5l Gastll ol g3l S Lde S5 Y (Infinitive - ias) & 4llall s34 & "have" >>will + have
. (d}‘y\ g sl s

Have +Past Participle = ( & ¢ sl s 1) >>have + finished
.. oAy gk vie S 5 J5Y) g sl g (combination— caS 5ill) Wz g JEall 13 131
Have +Past Participle s 5 Sl & gl Gl ) -2
BE +Present Participle s s Cllill ¢ ¢l xa
He has beenlearning English for four years-
LAl e 6l da g e AU g 53l >has been learning

" finite— 2s<"<has sla (S g 5l s 13a) >>has +been
."Be" LVl Jaill e 3 5aks (been)Past Participle+(has, have, had) o< 3

..been s "Be" Al past Participle 13-

(U g 8l ga 13a) >>been +learning

"Be" J=all Past Participle J! s 5 (Be) 4158l J=é >>been

.. (ing ) 4 Cilias J=dl) siPresent Participled! s >>learning
Lol g e sl Gl L e gy JU a3

r ) JE) 8 LS ¢ gl sl 3 ay ) Ll i<y -3



He will havebeen learning English for five years by next October-
Ll s G OV g sl S ) e
Modal +Infinitive s s Js¥l ¢ sill Lk -
Have +Past Participle 545 &8 & 53l aa
BE +Present Participle s& s &l ¢ il s
(s g 5 s 134) >>will have -
Modal Auxiliary>>will

(Infinitive -_xadl) >>have

(S & 5l 58 13a) >>have been -
sacldll & "Have" ) s >>have
"Be" 435181l J2é (1 Past Participle J s >>been
(& g 8l 58 138) >>been learning -
" have" - it LY (been) i 5 aclill 8"Be" JI 4 >>been
Adadll Sle enall (e QU g il LW g patl 45 53S1) Jadaay Csls ¢ Present Participle s#>>learning
..(into one complex verbal group —sisa saal 5 4ylad 4c sana ) Gl 5 SN 5 S5V 5l Liday 5
Modal +Infinitive s& 5 Js¥) & 6l Ll ) JEal) 38 4 -4
BE +Past Participle 52 s & ) & 5il) ae
The president could beseen by everyone -
could be -
Modal Auxiliary>>could

"t0" AlS Lk ol 5 i ol "be" of Baadliy "Be" 435Sl Jadl Infinitive saad) dxua Us Ll >>be
(Barelnfinitive -gm yall jaadl) o 13

be seen -
45 1Sl J28 >>pe
Past Participle of verb "see" s >>seen

L Vs Y g sl G S il W i gy S 12



BE +Present Participle s s &l ¢ gill Lk ) -5
BE +Past Participle s& 5 &l & 5ill aa
He is beingcalled now-
(&l & il g8 138) >>is being -
(Be) 4i5iSll J2é >>js
being =(-ing ) + (Be) ' ¢ (—ing ) + J=&l sa 5 (Present Participlel) s» >>being
(&) g sl s 1) >>being called -
"is" - Gk 43 (—ing ) 4 lliaa ola L (S5 (Be) 435uS) J=d >>being

Past Participle of verb "call" s >>called

All such groups are formed in the order 1, 2, 3, 4, as follows:
4 3 2 1
Modal + (Have +PastParticiple) +(Be +PresentParticiple) +(4Be +PastParticiple)
D LS 4 302 1 il e g ilaal 4l Sle sanall JS-
4 3 2 1

Modal + (Have +PastParticiple) +(Be +PresentParticiple) +(4Be +PastParticiple)
PRt [P TP P2 P PR e 0 - S [ IS T Pt | IS PP L SRR
Gl + SE+ Y e sl S+ SV ) [ e ) e )5S o cang Gl 5

LA L+ el o+ J) g

.. (combinationRule of— Ll 5 cuS il acl8) o oS5 1388 Ll 5 ) sERES 48y HLall 3¢
t IS 4 €32 1 oS of & Y s -
Js¥) ¢ il >>Modal +Infinitive -1
U ¢ il >>Have +Past Participle -2
Al & gl >>BE +Present Participle -3
&)W & 8l >>BE +Past Participle -4
(46362 1) il 13 @i of (e Y ALl ALY 8 Uilad LS any ag& 58 day 35 of L 130 13-
Note 1: The meaning of the verbal group is contained in the last word.

e.g. He has been learning English for four years.




.. oAl aLlKl) o ( contained -3)75 ) A=l 4e ganall Jxall: 16Y) ads galdll
. ( Lexical meaning ) 2 o M g cAlzdll de ganall 4l 68 Qi i Ll amal) Sl o 5 4LIST fal-

He has been learning English for four years /J%s

agyls g) aleall ol 8 Leadils g 5% 5) "Function" b agdl caleall oda & Jixa ‘éi ) &Sl ¥ >>has been -
(A

( Lexical meaning -esaall iaall llai ) sl ¢ ndl Gl >>learning -
el e bl Ml L (adli" e AT o liae
cooa Y] 4l (e A3 aledl) de ganal) 8 el T

Note 2: Only the first word of a verbalgroup is affected by person, number and tense. The
first word is what makes the group finite.

e.g. He has been learning English for four years.

| have been learning English for four years.

They have been learning English for four years.

i) ads galall

ol sl addll lgle % duladl) de ganddl (e YY) A< L

. (finite—o32a%) () sSiu 15V 4lSIE 4led 4 gana Lal IS 131

..(finite—s33a4)< 4c senall ppan Jaad ) & 4gdil) 4 ganall A (U5Y) Jadll 5) 5V 4l T30

He has been learning English for four years-1 /Jt

.(finite— 233a4) < 4c sanall maa J2ay 521 5 5 (finite verb— 33as J=d) s >>has
J"had' sy (Y dadl) 1) (A1 4l e o gay Juaill g odiad dgled 4c sane L Lial 13-

| have been learning English for four years -2

LJE) 138 8 adadl) 4 gandd) 8 s 53 as ) sa"have" of Al £ -

"He has'<< d;}!\ S Af =
"n haVe“ C_‘mi& ):)"3 Lﬁﬂ\ )A Lga " hasn Ui L‘L}y IIIII L_;J "He" d;m\ L\)ﬂ!} Ledie

.(Non-finite— s33a% ) < Legia IS Y Laa L& Uiy (learning s been)-

¢ Past Participle »» >> been-
..(Non-finite verbs -sa3aa il JxdYl) i (s3a) & " Past Participle” J) of ,Sxis

¢ Present Participle s >> learning -
..(Non-finite verbs -s33ss sl JxdY)) sia s2a] & "Present Participle” ) of S

.(finite— 33a%) 058 53 am sl 58 S Jadll o 3 (e geitians -



They have been learning English for four years-3

. os3 gA) sa "have" L

They have <&aual <<He has-

.. s &l been learning-

.(finite—s33a%) 4dadll 4 sanall man Jaa (531 58 L J5Y) Jadll 13-

"has' S3aall Jedll o 2 gy Juadl) 5 o33k 4iled 4o sena 02 (has been learning) b Jsill gakis 131*
Al de penall 8 el ) Y1 AdS) a

Exercise:

Choose the correct order for each verbal group:

1. a. haveseencouldb. couldseenhave

c. could have seend. seen could have

2 O G O sl LAY L (b, €) o a8 ol LAY s2a & Modal ) ge i -1
(Past Participle) s\s "seen" La >>b. could seen have-

" have" La>> c. could have seen-

«(Past Participle) J# b " have" ol W Sy Ls-
c. could have seen st Allall 83 (& manaall cal sall 131

Modal +Infinitive< J ¥ g sill Lk -

Have +Past Participle< &) & sil) ae

2. a. have should been doingb. doing should have been

c. have been should doingd. should have been doing

LAY 038 8 Modal I e dingin -2

(d. should have been doing) s 4uy i "Modal" (e (s sin 3l am ) G gall o) TaaSe
should have been doing -

Jds¥ g sill >>should have -



"Modal" »» >>should
(Infinitive— ,2as) 4 >>have
4l g il >>have been -
"Have" s» >>have

(Past Participle) s» >>been
&l ¢ il >>been doing
"BE" 435Sl J=i g8 >>been

(-ing + J=dll) ) (Present Participle) s >>doing

3. a. has been studyingb. studying has been
c. been studying hasd. studying been has
. (Have +Past Participle) s s 4l (& aiy SE g 5l e Gimvin 13 ¢ 2209 Y Y Sa Modal Ll Ja -3
(a. has been studying) JLEaY! i lalias 68 ¢ (has) s " Have" Judll 1aa -
has been studying -
4l g 8l >>has been -
"Have" s >>has
(Past Participle of verb "be") s >>been
been studying -
"BE" 435Sl Jai 58 >>been
(-ing + J=dll) ¢! (Present Participle) s& >>studying
. abla 4l (b, ¢, d) Alall s 13-

Verbal Group Types

Aladl) 4o gendll £ il

ol Sl ) o S SV g sl zan s Tl aali HS3 cagladl) ae ganall £ 5 (e g 58 JST (3 platin (Y1
LSl e Jliy agia aal 5 JS 2abin (Y1 5-

Type 1 Modal +Infinitive :



¢ The mainverb which follows a modalauxiliary will always be in the bare infinitive (without
”to”)_

e.g. can see, could see

¢ Modals are not affected by person and number.

e.g. He must know how to speak English.

They must know how to speak English.

e All verbalgroupsbeginning with a modal are finite.

:(Modal +Infinitive) s s /Js¥ & sl - lasiu-

Jadll 138 Gas of 59 00 ) (Bare Infinitive) Lila ¢ 5$ Modal Auxiliary 3 sy g3) ) Jadl) -1

.."tO" :‘\A.‘S

- -
-
- ~

N
10" = 33 o s (Bare Infinitive) s& Jad) 138 (&S Modal ) ax b Jaé ) \'\ AT U

~ -

~—_ -

couldtosee s cantosee<< Jall &liSa ¥ /JGa

couldsee ) cansee<< Jsill dliCa (Sl
3524 ol e juae 4l ) (Bare Infinitive) s "see" ol Jadll La-
. pga 13 > a3l 5 el < Ll 3% Y Modal ) -2

lede 55 YModals dls cpe il 5 22l 5 (sl agile 55 (finite verbs— ssdaall Juxd¥l) of Tl Lk
L Auald Al ogd (finjte— sadak) Ldiad (1 5 el 5 paslly

-

a0a)) 5 Gadlly lle %)Y Leils Ald Alla Cola Ua "Modald' ) of { zoadl )

~ -

(finite—siind) csla el
He must know how to speak English /Jis
They must know how to speak English
o2l (et 8l U e Lavie s ollal) WIS b o o5 ik ok
He must know -
LG okl 8 a0 jie Jeld 8 >>He
el sl aaall gl paddll Cuy 3 Al b LS iy g Addad 4o sana & >>must know
They must know -
Ll Caplall b 1y aen Jelé 8 >>They

ool ) o a8l ey e Al 8 LS iy 4ilad de sana & >>must know



.(finite -0 59353) a8 Modal = 12 3 4dadl) e ganall JS -3
.(finite -0 s33n%) 1 sin agi€l 5 el g aaall 5 (adill Lle i) ol agledl) Cile sanall 230 o) sia-
Type 2 Have +Past Participle :

This type is an expression of the perfectaspect. “Have” is used as a helpingverb (auxiliary
verb). The helping verb “have” is finite and changes according to person, number and tense.
For example:

Hehas read the book already. (presentperfecttense)
Wehave read the book already. (presentperfecttense)

The students had already gathered in class when the teacher entered. (pastperfecttense)

:(Have +Past Participle) s 5 /A8 g gil)
..(perfect aspect-"all Jaill daua" Jall Cails) AV ((expression -_mes) sa g sill la-

(The progressiveaspect s The perfect aspect) e 4ibudl 4 yaill o sall (8 o giu j3 La (59 S A5 13-

el (e
(The Past perfect s The Present perfect)
L Sul e gl 8 s Wl L Jis (Have +Past Participle) = ¢ L=l "The perfect aspect" -
.. (&9 ¢ 50 = The perfect aspect ) of si-
..(Auxiliary verb -2clus J28) S 23355 " Have" -
Loe ) s aadl f padall SRy 55 Al Gt Gl U S5 > (finite— 23a3) s "have" aeluall Jaill-
resent perfect tense) =2 25 >>Hehas read the book already - e
P f Heh d the book already -1 /J%«
(Present perfect tense) = s 5 >>Wehave read the book already -2
ool gl oy i

=2 9 >>The students had already gathered in class when the teacher entered -3
.. (Past perfect tense)

."Have" J oaldl dapa 4 " had" 5 <" had" Leadiul 1al ake el el 138 > e 3 s Prtie

Type 3 BE +Present Participle :



This type is an expression of the progressiveaspect. “Be” is used as a helpingverb (auxiliary
verb). The helpingverb “be” is finite and changes according to person, number and tense.
For example:

Heis coming. (presentprogressive)
Theyare coming. (presentprogressive)
Hewas waiting. (pastprogressive)
Theywere waiting. (pastprogressive)
:(BE +Present Participle) s s /Ul g oill

( progressive aspect - 23 ila) A el 54 g il a-

(perfect aspect-"alil Jadl) apa" Jiall ila) U jues 4 <"Have +Past Participle"ds¥! g il 13-

:ailial (a5 ¢ progressive aspect - >3l cuila) Al juei 4 <"BE +Present Participle" Sl ¢ &

(Pastprogressive s Presentprogressive)
LoV s aaadl ff (assll R 55 s (finite -33a3) s 5 «(Auxiliary verb -aclue J=28) S 233540 " BE"-

___________________ —  Heis coming -1 /J%

1
1 Presentprogressive L3S —
] 1

___________________ L Theyare coming - 2

Ly el 3l R AEAG 8" BE" 45 Akl Jad o L Al -
o) g 23l G o)) 3 6 ¢(finite -0)a3ss) L 13g) ¢ pasdll 5 axll Can | 53 (are - is) -

T —— —— Hewas waiting -3

—— L  Theywere waiting-4

.o oaddll 5 el G |5 (were -was ) of Ll lia Jaadls -
v i PP P L PPN RS i

___________________ 1 —— Heis coming

—— He was waiting

*

e e e - o He is coming

. Presentprogressive - (Ve lea |

L eemmeemmeeeeeee—— -4 L_They are coming
e —————— — He was waiting *

_______________________ L__They were waiting



Type 4 BE +Past Participle :
This type produces the passivevoice (in contrast with the activevoice).

The verb is active in this example:

Ahmed broke the window. (activevoice)
The verb is passive in this example:

The window was broken. (passivevoice)
:(BE +Present Participle) s /gl A g s

53ley ALi3A] Lin) Slad ) €8 4l a3l 53 JYA (e 2S00 48 il Passive 4elS Ja «Passive J) Lk & il 13a-
(1015835 13) o pumlaalls W Cida oy il b de ) giSal) i 5 o e AN o jualaally CulS 5 g alll a5l

A alasy) aslll 3 "voice" I g1 s sas) & Passive -
(Jsenall s ) Jiius & sea >>]Passive voice[ ! «(Active sl Passive) : ¢S 8 "voice" -

(pstrall i) Jall 2al sie & sea >>] Active voicelsl

Ul 138 3 "Active" els Jadll -

astaall s (o) (active voice)>>Ahmed broke the window

:JEd 13a & "Passive " sla Jadll -

Jsexall S 5l (Passive voice)>>The window was broken

o Dol S linim gy 4y I smiall 3T Ll ga Lia olilad (2%

. (the window) & 4 Js=idll 5 (Ahmed) s& Jelill 1 J oY) alaall -

..(was broken) = Wlias & (the window) = Ul 13) e Jeldl els "the window": 4l 4leall -
.(Be +Past Participle) s s 4zl cile sanall (e al )l £ 53 alasinly Passive JI ksl 13-
(The window was broken)<< 4leall casuali-

"Be" 43518l J2é >>was

]break, broke,broken[<Past Participle of verb "break">>broken

Jsexall Sl (¢l (Passive voice) ) 4xua Lt >>was broken -

Dage el

Modal Auxiliaryl:Js¥) g sili-
perfect aspectll: A&l g gill-

progressive aspectll:&dull g 4ili-

Passive voice:al A & sill-




Exercise:

Decide whether the type of the verbal group in each sentence is:
a. Type 1 (modal +infinitive) b. Type 2 (have +past participle)

c. Type 3 (be +present participle)d. Type 4 (be +past participle)
1. The machine was fixed.

(Verbal group -4ilzé 4c saas) >>was fixed -1

" be" 435Sl J2é >>was

Past Participle ofthe verb "fix">>fixed

Jsexall Ludl 51 (Passive voice) Il le Jlie 13 131

d. Type 4 (be +past participle) s <l sall-

2. He can fix any machine.

can fix -2

Modal Auxiliary>>can

"Bare Infinitive" <8l (il & 5 (Infinitive -_xas) >>fix

LY g sl e Jlia 13a 131 ¢(adapuaal) dipnall) oasbis¥) Juill drgay U els "fix"-
a. Type 1 (modal +infinitive) s guaall il sall-

3. He is fixing the machine.

is fixing -3

" be" 43538 Jxé>>is

(ingfix +) = (-ing + J=dll) ) Present Participle>>fixing
.. <l ¢ sl g (progressive aspect) Al e Jbia 13a T3l
c. Type 3 (be +present participle) s& gmsall i sall-

4. He has fixed the machine.

has fixed -4



" have" (e 24l dxpa s 5 >>has

Past Participle of the verb "fix">>fixed

. S g sl s (perfect aspect) ) (Ao i 1aa 13-

e Lo a5 ol gy (& cela LY 13Sa @i >has -

. X" eala¥) Jadll e (Past Participle) J) 4ea & 5 >fixed
b. Type 2 (have +past participle) s gl Gl sall -

Type 5 DO +Infinitive :

In this type, the helpingverb “do” is called an operator. We call it an operator because it
helps in a number of operations performed on the verb phrase (VP). Some of these
operations are:

Operation 1:Negative
To form the negative, we put “not” immediately after the operator.

e.g. He doesnotwant it. They didnotcome here.

:"DO +Infinitive" /s 5 4daill e ganall ¢ 5l (ya ualdd) £ oil) (liin Y1
.dale sl 534 sl (an operator) = =2 " DO" 2eluall Jadll < ¢ il 1a-

Oe 23 ol 43 @lld 5 aganl) s2gd Cans @llia 5 ((an operator -Sule ) - o seai G 13-
-.(VP) dadll s Ll e ( performed— %) ) (operations -<iidas ) J)

.4l (operations - <liles) A1 s3a Jas & Lacluy (an operator) 13-

32 50 JeaWl (815 ¢ da il oy 5all 238 & L (operations - Cililas ) Lellacly 85 43 1) g€l J
3 0e S

:operations I a3 ¢ 13-

:(Negative -Ail) ¥ doleal) -1

.. (operator) 3 2 1,58 (not) 4ulS muai () e Y Al delua syl 13-

..(operator) 4! & "DO" 4alS allall o2a -

He doesnotwant it (1/Jbe-

Ll ol gl sa s " DO Jadll (e g limall 3 il disa a5 >>does

.. 1,58 (does) 2= &85 >>not

.(operator) J1 2z " not" Casiai (L Alea i gl) il ¢ slai S



.. "does" s 5 (operator) I 2 " not" Lidcal aleall o2a i

They didnotcome here (2

DO dadll (e palal) dapa 54 5 >>did

.. 15 (did) 2 &85 >>not

.. [ 4éie operation I o2 Jaad (51 | (il guail " not" saes ad55 ¢« "did" 525 (an operator) Lual La-
Operation 2:Interrogative (question)

The interrogative is formed by placing the operatorbefore the subject and leaving the rest of
the sentence unchanged.

e.g. They come here.
Do they come here? (interrogative)

O VTSP I PP P P 'S L L S5 La (5,831 "J)sud)” (Interrogative -4seliin) 4l Aleal) -1
.(Interrogative -4xliiu¥) s 5 SG cavas Liad Llies 5 (question) J) ¢S

Interrogate 5 Laie g} (<l saiu¥) -Interrogation) o= 353k "akedind) - Interrogative" *

(Sl sladll (e (38a3-information )

«aleall & (operator) ) 22 "not" gl (Operation 1 - Js¥! 4leall) o-
.. 4aledin) alaall Jaal "Jeldll" Jd(operator) J) aai (Operation 2 - 4xtill adaall) é La o<1

Y o WS aleall 4 5 "deldl” Ji(operator) I g 13-

They come here /Jis-

.. (an operator) )zl auledin) alaall e lua Jaal-

" Do" s» (operator) ) sSad "s" s a Y 5 clilial (52 (come) 25 s Allall oda i -
Do they come here?: J s&i-

Lapa 8 Judll Jaad O Y oo ol iy (ppa Sl i ¢ i o) alead) A8y 5 4glad) 8" DO" RS Linin g Laih-

.." Do" < (operator) I e 3y Jumill 5 4salgiinl & >> (Do they come here?) 13-
Operation 3:Tag question
He did his homework, didn’t he?

They don’t come here, do they?

: (Tag question = &S g1l Jlise) AGIEN dlaad) -1
..(an operator) ! U3 aS @l J s & saaail-



A 55 Jl e Ll ) il of Lo i 5 (He did his homework) << aleall s3a Lyl culS 13 -7 /Jbie-
..(He did his homework, didn’t he?) << 4leall muaiud "did"< (operator) I zlss

AS 5 5w sa>>didn’t he -

. (No -Y)sf (Yes- ari) o 2S5l Jlpaad ()5S il salla-

.. Yes, he did<<<uia Gl sall o S 5all (e ()5S Jgaall 138 8 (S0

.. (operator - Jale) ) sa"did" lladl o2a -

They don’t come here, do they? -2

AS ¢ Jlsw 58 >>do they -

S O W ¢ semy S0 U oliardind 5 (operator - Jale) I sa >>do -

.. No, they don't<<(Ada &S S 5all (e @l sall-

: ogielual (operator - Jale) I (e a2ddis 3 5 (operation— Shleall) (e t\}\\ GOl 4 038 ]

N\ N\

1- Making Negative 4o lglea -1

J

2- Forming Question iy deloa -2

[
Y \

3- Tag question al[ S g Jlsm -3

J

Jal sl —ilS jadl)
Operators:
In addition to “do, does and did”, operators also include:
1. Themodalauxiliaries (can, could, may, might.. etc)
e.g.Operation 1: He could not come.
Operation 2: Could he come?
Operation 3. He couldn’t come, could he?
..(operators - Jalse) I Joa iSH alas ) Jasas o Y)-
1dedii s Al (operators - Jals2 ) dia (el ¢ 5l Jd (do, does, did) ) 4iba¥L-
:(modal auxiliaries)-! -1
(can, could, may, might.. etc) /Jie-
1 4leall >>He could not come -1 /JUs-

il fuail "could"< (operator - Jale) ) ey "not" Linaa o



2 4leall >>Could he come? -2

< Aalgfinl dapa lelaal alaall 40 A& "could"< (operator - dale) I Laia -

3 4:laxll >>He couldn’t come, could he? -3

S5l J) s gaail "could"< (operator - Jale ) I Leadiul-

2. “have”, “has”, “had” as helpingverbs (and sometimes as mainverbs in British English ).

The following are examples of “have” as a helping verb operator:

Operation 1: They have not come yet.

Operation 2: Have they come already?

Operation 3: They haven’t come yet, have they?

..(operators - Jal s2) S (yskeny 38 > “have”, “has”, “had” -2

..(operators - Jal s2) S agediin Ladie dgulul JladlS o saelue JladlS agaladin) (Sadl) (e -
Ay ) 4all) die diald Adla s3gd 4l Jladl agil 248ial 5 (Operators - Jal s ) S agediiu Ladic -

el J2aS JIEON (an operator—:)mkc) 055 Ladie “have” dl G sS4l alial) -
:( helping verb operator ) =4

1 4l >>They have not come yet -1

( helping verb -3=lus J=3) s 5 (an operator— Sule) >>have -

(main verb -l J28) 4 >>come -

st ddaall delua Jaadl " have"< (operator - Jale) Al 2z "not" 4alS Sl -

2 4kl >>Have they come already? -2

Aalgiin) daua Ledaayl alaall L)y 4" Have"< (operator - dale) I ela -
..(main verb -l J28) s "come" s ( helping verb -acluc Jad) sls Ua " Have" § -
3 4lkall >>They haven’t come yet, have they? -3

..( helping verb -2=lus J28) 54 s(operator - Jale) ¢la >>have -

..(main verb -l J28) >>come

LS5 s duaid " Have"< (operator - Jale) I ela -

..2elus J8 S (operator - dale) 3 d3A (e S 2855 e 1 3 el 2l T3

This is an example of “have” as amain verb operator in British English:

Operation 2: Have you any money? (British English)



Compare:Do you have any money? (American English)

238 5] el JaiS Caiiad (operator - Jale) S 23330 88 " Have" o Cus 4als clls el of L 83 *
..( main verb operator ) e [ 4slay nll 4alll 3 laoas 4alal) allal)

12 4dasll e Jhe

( Have you any money? ):Js& 4axitay yll 4aalll & Jlal) aldas Lanie -7

..(main verb -l J28) 58 5 (operator - Jdle) el " Have"<< 4gitlay ) 4alll 8 -
¢ S JE) e i) JB ¢ s

( Do you have any money? ):d s 45 ¥ aalll 4 Jlal) allas Laxie -2

s "have" s «( helping verb -aclus Jad) sa 5 (operator - dale) el " DO" << 4 Y] 4alll b -
..(The main verb - =LY Jadll)

Al (operator - dsle) a2 (Do you have any money?) sk 4K 51 4all) 8 Sale 13-
"have"< (The main verb -—<LsY) dul\) addid Y g o) 3 At lial allall oda st elua J2S"Do" < s
s delual Ua (operator - Jale) S

——-———
7

o
’ N

. 1 \
MR
S o _-

~—_ -

Sl Al auail (operator - dale ) S axlaiiul @li€a ((main verb -~ J28) <" Have" ()5S Laie-
o Agilay ) 4zll) d Laé

¢y lail) 4zl s (:J;fh.&i LSt gl g delual el 28 " D"< 54 (operator - dal.:;) PREI Bale -
Aty il axll) & Lealadinl Sadll (e

nou; n u ” u ”n u

3. “am”, “is”, “are”, “was”, “were” as mainverbs and as auxiliaryverbs.

The following are examples of “is” as a main verb operator:

Operation 1: He is not here.
Operation 2: Is he here.
Operation 3: He is here, isn’t he?

sl asulud JdlS o 58ia) 5 (operators - dals2) S (slexy 3 > 1“am”, “is”, “are”, “was”, “were” -3
) (S4SpaY ol ity ) 4xllly & Ja) GlullS 4als s la 22 0 Y 5 (auxiliary verbs) <eaclue Jlails

s ol VS 8 o)) el L

(bl JiS i (operator - dale) (5 Ladie “is” e () sS4l 4B
:(main verb operator) =8

1 4xleall >>He is not here -1



.. 4giia alaall Jzad o22y "not" Lital Y (operator- dele) s Gl a5 bl J2d 2 >>is
2 4leall >>|s he here? -2

Jad Lﬁi 23 g1 Y cdsaledingd alaal) Aaua Jaadl aleall )y 2 ol g5 "Is" < (operator - da\.::) ) Bas) -
..(The main verb -bs¥) Jzdll) s "|s" T3lc_al

3 «laall >>He is here, isn’t he? -3
..(main verb -lul J=d) s 8l iy 5 (operator - dale) Al 2 >>is

The following are examples of “is” as a helping verb operator:

Operation 1: He is not coming.
Operation 2: Is he coming?
Operation 3: He is not coming, is he?

e Lo duS u:;a:n (operator - dALc) U}S:‘ Ladie ”iS" oe UJSL dm‘ d.\AY\-
:(helping verb operator) =8

1 4kl >>He is not coming -1

..(The main verb -=tu¥) J2dll) 54 >>coming

. b alaall delua Jead saey sla "not" Y (operator - dale) sa 5 aclie Jad s >>is
2 4laall >>|s he coming?-2

..(The main verb -=tu¥) J2dll) 54 >>coming

o Azalgiind Lelany 5 Lghuad aleall d3lay b oliaxiiul 5 (operator - dele) s 5 aclue J28 2 >>is
3 4leall >>He is not coming, is he? -3

..(The main verb - =tu¥) J2dll) 54 >>coming

oSl e W gaadd A liaxdinl g (operator - dale) sa 5 acbua J2d g8 >>is
Exercise:

Decide whether the underlined verb is:

a. a main verb operator b. ahelping verb operatorc. not an operator

1. They do not come here often.

8 aleall delua Jaayd "not” sam ela 5 2cle J28 58 5 (operator - Jale) sa>do -1
..(" helping verb operator" e s 13))
b. ahelping verb operator s <l sall 131 ((The main verb -xts¥! J=dll) s >come

2. | have not seen this movie yet.



s Adaall debua Janyd "not” sax els 5 2cls Jad a5 (Operator - Jele) s#>have -
..(" helping verb operator" e s 13))
b. ahelping verb operator s <! sl 1) ¢«(The main verb -~t.Y) J=dll) sa >seen

3. Do you have a copy of the movie.

$¢J) gual) Az lual oliardinl Ja oSl ¢(The main verb -~baY) J2dll) sa>have -

3 Jail "Dg" e lusall il Liasid s eeis oY

JVseadl W gnad alaall 4400k 8 slierdiul 5 (The helpingverb -acluall Jadll) 8 > "Do" 13I-

L ) sudl d2laal (operator - dale) S L 233305 1 "have" ¢S5 «(helping verb operator) = s
b. ahelping verb operator st <l sall 13} ¢ ol JeiS sla

4. He is not here.

LSt e AT Jad alaall oy daa Y -4
«(main verb operator) = s 13(operator - Jsle) s 5(The main verb -lu¥) Jaill) sa>is 13-
a. a main verb operator s zasall il sl "is" <(operator - dale) JI 2y "not" das il Laial

5. He isn’t going, is he?
..(The main verb - =ls¥! Jadll) & >>going -5

Ji5es Waial 5 (helping verb operator) e 58 131 «(operator - Jele) sa 5 aclus Jab sa>>is
b. ahelping verb operator s <lsall 131 ¢ "is" aeluall Jadll aladinly S 5l

Form and Function
Al ) 5 aspall
Form and Function: 4&digll g 4iuall
Form is what the word/phrase/clause look like.
e.g. noun, verb, noun phrase, verb phrase, relative clause
Function is the “job” of the word/phrase/clause in a sentence.
e.g. Subject, Verb (Predicator), Direct Object, Complement
ool b adida gl g sl o A Ge DU Cidatin o pualaall o2 ¥
..(word/phrase/clause) J 4 sekay 3 jehadl Sl JSi 8 1ddpall-
WMokl A edy ol Jedaa 5 MKl Aapa” ey A€l el o 4l
a0l alealld ga sall o) dlas cdnled o sl e o jlie Jad can) [Jie-
) e Jedll of (o) (aud ela) adll 138 10 5 Lanie Dliad-
028 Lgiana 4alSl o) (o) (J28 iela) aalSl) o2a ] g8 )

o AL G sl 8o S alial agd U S5 (VP) 5 (NP)-



.. 4hsa 0o o lke a5 (clauses— a5 Jeall) A1 gl i s2a) 838 > "relative clause” -
) ol o) 4ealdll @l bl L (clauses— <l il s Jaall) dI e didatiu®

..alall & (word/phrase/clause) 4 daall (e o jlie 5o sraduli gl

.. ekl 23 (word/phrase/clause) 4 4lxdy L (s)-

(NP) 4zans¥! il el o) Wi U 583 LS (NP) 4ans¥) & jlall dae 58 5 >(Subject -hxisad) 5l Jelall) -1 /e
.(Subjects - <lsise 5f el 8) 055 3

. 4&da 5l > (Subject) Jeldll caxpall > (NP) 4zanll o jluall 13-

i (5 B g addig ) 28 Lyl > (aiwall —Predicator) dadll -2

L ALSS ) Latie dia (S

.(Predicator) sbuYU Ll 4alSll Caita Laxie adda 5 o) oo

«(Predicate -4l 3iua) 5 Jeld 1 e (5 5ind adapad) Jaall o) Uil LS.

¢(2iall —Predicator) =% 4l diwall & Jadll

"it can be filled only with verb” 1 Jailly (W 3le) elaa J2 of (8% (siall-Predicator)d &k s o<1
aih S 5 aaual (Verb) plhias aadiui M-

A5 Lenih aila sl il (s Al "Verb" (amae 0 4l S (Predicator) i (Verb) allas aiiios -
..(Predicator)

sl g adds gl e JSI (Verb) (same ardins Js (Predicator) (ese 3ale ad3ind ¥ ¢ ) gaY) Jagadl (K1 -
Aleall 8 Jadll Ledady ) 4dids o) (to indicate— cisd s i) (Predicator) (oamal) alaiul Loal e oSI-
AL & palsall 8 5Li8G >Direct Object -3
oA elE ) o palaall a3a 8 LS8l >Complement -4
Exercise:
Choose (a) if the given term refers to a form and (b) if it refers to a function.
a. formb. function
1. pronominal group
(el de sana) 4y pacall 4c sanally s ge i A LS (g 4o ganal 5 o jlall il g 5f disa o34 da -1
.. Weall 1 lale JBia LS5 54y yraall de genall o Tl L 5o
Al gax Jare 5 ¢ Wes e Wil 4y jraia 4o sana (4 (We all)-

4o sand" 5l "phrase- ales 4sd sl o JLall" 43 5elas (A Jeladl (o (5l) Adsall pul (o 4 ppeall 4 sandl T3l
a. form s <) sall ((group of the words — LSl (4



2. indirect object
(NP) el o jle o5& el 5 iy @ >>indirect object -2
..(Functions of the "NP"—4xau¥) s jluad) ciilds ) Juli aey 2l
.(indirect object - »ilu & 43 Jsnia) & aila gl g ¢ (NP) 4zand o jle & asaal) of 5i-
b. function s& < sall 13-
3. complement

frall (sas) Gl o3 (Slg 60 30n 5 0 56 2y (complement— 41&) ) e (il >>complement -3
b. function s < sall 13 ((complement—4l&all) o oo 5 ol o e 5l 4l adda s o Jy LU

4. subject
L(NP) daand o e oS e e 5 aiday o Jeldll of Tl oladils LS dlainall i Jeldl -4
b. function s <l sall 13) (Jeld (subject -Jeldll) o 4aadagll 5 (NP) 4sansl o e o axpall o -
5. noun phrase

i cL_'ﬁLE)l\ %) A=l M Araw) n)\g:d\ CsS3 Lau\.c 9 ¢Axua & (@AMY\ DJL.\:J\ - houn phrase) -5

..(subject) deld oS5 38 - 1

..(object) 4 Jsrie (5SS B - 2

..(direct object) sl 4 Jsnie oS58 - 3
..(indirect object) »ilw e 4 Jsnda S5 38 - 4

a. form & <lsall T3l
Functions of the Noun Phrase (NP):
1. Subject of a Clause

As we mentioned in Lecture 4, a sentence needs a subject in order to be complete (except
for imperative sentences where the subject is unstated).

e.g. The old man is here.
L(NP) I cailla g ) Jsin 1+
Az o Ll 5T "Noun Phrase" 3 Juaial & (NP) of ales LS-
ey o Ll 4alisal) Caills o) aaldn-
Lo (Aaa o 5881 (Iaisa o Jold) =1/ h Ananl] o jlall oY 4Adda gli-

& G\J;:a "One Clause sentence" i) ) MJA.\SL C_ua.\l Jeld GU;J alaall Oi 4a) 1) 3 palall gg il L <3
.. ["unstated - z 5as 5" L ()5S deldl o a5 Jad oLl ] o JaiSa raa fuise ol Jeld

. asede 4y Jeld o o Y alaall 028 & >>Go study /Jie-



L deld ) zliss o AN Jad) auea 8 0S5
The old man is here:Jtia-

5 Agensl dles dSua ol gl ¢(Nominal group -4ses!) 4lea) 52 5 The old man<< st 4leall oda & Jeldl)
L [Jele il

man<< (The head -u+I_)-
old 5 The<< ¥k o

(Nominal group -4xeu! 4 sanall)y b 5235 5 03al 5 4c saasS Jasi (The old man) 45381 il o2 Js-
Al G paalaall (8 SE LS (NP) 4pens¥) Gl bl e g 58 A

.. (Simple Clause Sentence -4kawul) 4leall) 03¢l Jeli s " The old man" 13-
2. Direct Object of a Verb
Transitive verbs require an object. Monotransitive verbs take only one direct object.
e.g. Ahmed finished hiswork.
Lo il Jdial) 4y J gaial) -2 fh 4gand) o jball A Adyli il

o8 5 ¢y Jsrde o (5 sing a3 Jadll i g cania Jud ol a3Y Jrd )5Sy 38 4l Jadl) e olill La ()5 S35 a3 13)-
.. Jradilly lls Laals S5 Al (Ditransitive s) Monotransitive) 585 38 Ll U S5 aadll Juady)

Ahmed finished hiswork /Jie-
" saidl salal o 3Y Jad -Monotransitive” s 5 el s >>finished

¢(NP) & 13 ((Nominal Phrase -4zl o le) 58 >>his work
«( The Direct Object of verb "finished" -"finished"Jzill jilue J seia) sla Lyl
..(The Direct Object is "his work" -" his work" sa La il J s2aall)

b sl a5 (s allall o2 3 g aleadl oda (8 aal 5 4y J paie Lpal 13-
..Ua (The Direct Object - bl J s2iall) (58

3. Indirect Object of a Verb

Some transitive verbs require two objects. These are called ditransitive verbs. They take a
direct object and an indirect object.

e.g. He gave Khaled a book. (... gave a book to Khaled)
The shopkeeper sold him some snacks. (... sold some snacks to him)
Lo Jail i il 4y Jsndal) -3/ 8 4pand) o jall 4E0EY Aduls -

L1 4. )Y Jdl -Ditransitive Verbs'= ?AU}:J Ll 09 S LASJ) Ol gzia e (5 gin3 4 U Jlad) (e
L sead)



e 25 5 5)"One indirect object” 5 il 43 Jgiall (e 2al5 51"One direct object” 32l JlaéY) s2a-

ol ppad) 4y J g2l
odle sl g e s dlall Jsriall o e R O Y Allall sda -
[(EESREQuE RS He gave Khaled a book - /J\is-
(Sla sl amy Al gL 23L) The shopkeeper sold him some snacks -
legia JS (Y sria aa g aileadl (ila i
1Y) alaall 4
.. J=dll 58 >>gave
a book -2 « Khaled -1 << (¥ s=éa Ll -
..(indirect object) s _AY! s (direct object) s Lagie 2al 5 13-

sl aleal) 03 re-phrase sl Sl re-state ki ¢denl ya¥) Jaal-
(AW Qs el s8)  (He gave a book to Khaled) << 1Sa

e odlall Jsmiall 0 5S5 Lgilen Jadll a5 80 pan¥) o jlall Ciols aleall o2 -
ke sl Jpndall (8 "10" ae Ciela S (NP) 4aans) o jlal) 5

o ibe sl Jsid) 58 >>Khaled 13-

Ll g2aall 54 >>3 book

3l 3 b s Jandl ey 050 S b @iV L) 5 il o) Joal (0 aland) i o) 43 Lot

Al aleal) 3
. J2dll 4 >>s0|
some snacks -2 ¢« him -1 << OY g2éa Wl -
..(indirect object) s _AY! s (direct object) s Lagie 2l 5 13-

zonail aleal) 038 re-phrase sl Sl re-state ko ¢denl ye¥) Jaal-
(AL QSN ae) ) (The shopkeeper sold some snacks to him) << 13Xa

ol ) Jsxaall sa"him" ¢ dlalY siall sa "some snacks":allall saa 8-
ool Ll Jadall 54 >>him 13-
. 8lalY 2idl 4 >>some snacks
4. The Complement of the Subject +BE (is, am, are, was, were)

A complement is a word/phrase/clause that completes the meaning of another
word/phrase/clause. It is necessary for the meaning to be complete.



e.g. Ahmed is mybestfriend.
:(is, am, are, was, were, been) 45 sisl) J2d + oLl ALY o4 [ A drac) o Lall day) ) Adds gl)-

[is, am, are, was, were, been] : (s<i 3 (BE) 4352l Jad o alai LS-
..(Past Participle) 4! (=) 2"been" J=dll

(458D Jladl IR (ga o) JladY) oda JDA (e Aleall dipn Ul e -
OV L pmi sale 8L o yualaall o2 8 <y 330 L SY Al 5 >>(complement -4L&all)-

8" o e 5f ALS] I ieall "zt Ja85 3 ["alens i 5l "alen 4ni o jlie 5f 4alS] 1 b ALAAN iy e
A [Maleats i ) "alea

i) (ALa) JLS) 1 b AL Aida s

QS u_\x.d\ ui Lf‘) Adala J:u: C\_\mlm LS‘);S“ ["da;"a)ﬁn }i "d.o.; 4_.\.&" a‘)\_}ﬂ\ }i MSM] MJ:ESM\ 09 (e ;\J\-
(O gramy

(—=mmmmmmmem It is necessary for the meaning to complete) / J) s~*

complement / s <l sl

(G i) mad) (5) irall Al dage o ala&A) T3

i OS5 "ALAl Ada 5" adida gl o3 o Cua 4l o ualaall 8 (AT 34 -another distinction) sl
ol "alen 40" o jle sl 4alS] il alaY dage (& ALKA of L SN o palaall sda b (S g cadgh
AzanY) Ol el e Whaa die (g Al [Madeats i

Ahmed is mybestfriend/Jts-

Allall 038 A a5 ¢[4sen) 4= saaa -Nominal group:4s 5] (NP) 4xeul s jlie a4 <<my best friend -
(il JUSY Lgaling Ll (51) sinall alaiy dage Ll $alalh Lol Lidde (oS alea coela

Szl (("Ahmed is" = aleal) oled) LiSay (gl aleall olemi) dhai gl 5 (Ahmed is) d sk of LiSa S
" 43Sl by Jolill i) Ja& i o

Aggad e Ll macaivs alaall el AL&G e muaiv aleall (my best friend) ¢se o 13-
LY gkl 4 pas i Ja alaall a3 8 (NP) I L 13-
.. (is) 45381 J=dl 5 (Ahmed) Jeldll 4184 & " my best friend"-

Note: When the complement is a noun, it must agree with the subject in number and
gender.

Ahmed is theiruncle. (not “uncles” or “aunt”)
Sarah and Huda are theiraunts. (not “aunt” or “uncles”)

The full verb “BE” in this example only serves to join the subject and the complement
together.



In this case, the full verb BE is called a Copula (=something that joins things together). There
are othercopulas in English, for example, the verbs “become” and “seem”.

ooiad) 5ol 8 el ae B8 G 2 el ALKAN () oS5 Larie '\' rabigals
Jd g Jolall aleall) Alla 3 Guiall 5 aad) 8 (il Ushay o camy Laa DS calal) bl g Jelall el 13-
..(Complement of the Subject +BE -4 5l

f [ s oligdls ] uind) 5 20al) (o5 S

Leeall 5kl /e < aaal)

ol — S0 — /05 < sl

Ahmed is theiruncle -1/JG«

S35 8 >Ahmed: of Bad
S35 354 >their uncle

D JAl Sy Y
?13lkd "Ahmed is their uncles"*

..&=> (their uncles) s 3 i (Ahmed) Y-
ke Uy of i) e cang 13-
$13L! "Ahmed is their aunt™
.3l e 2525 (their uncles) s K3 as) (Ahmed) Y-
LSS o oY) ey 13-
Sarah and Huda are theiraunts -2
3 5 aea>Sarah and Huda: of Ladl
&8l 5 aaa>their aunts
13 " Sarah and Huda are their aunt" *: Jsall WiSay Y
.2k (their aunt) 5 ges Legdl (51 (pads e o be (Sarah and Huda) Y-
e Uy of ) e cang 13-
("aunts" A aeas 05S8 Al&E ) 4alss "Sarah and Huda" of l)-

*

?13ld "Sarah and Huda are their uncles"
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[ Subject + Be + Complement] "4seul o jlie (5 5S5 AlSAl" [ alehs 5 4355S Jad 5 Jeld ] Ll S 131*
re Gl g2l 8 Jelall ae B85 () Gang "ASAD) o 5"l 5 jlalld

o e Al g Jelal) "an day y 8 Jadd aady JUl) 138 8 V) 45 53Kl Jad

O A Loy o) s alexd AT Jad an 53 Y A5Y aclise Jad Gl 5 aslial Jad Jaall oda ()65 45 iU Jai
(pein Tl S Jamy a5l ) ae ala&A) 5 Jelal

."copula- Ll Jedll" ey (ol 4353l Jad) alladl o34 3 13-
oary sLdY) Loy e 251 A copula - d ) Jadli" 4K aee

Jad + Jeldl al&all Al 3 [copula] = (is, am, are, was, were, been)"Be" (ssbu¥! 435Sl Jad 13-
.. haié "Be"4i 51Kl

il Jad e 4 sVl 4alll 8 s Al (copulas -l Jladl) lia*
[y Jia

become-
seem-
Al ARl 8 day) S Dleny Laa (ladll (3

L) g @l of )58 e o) aSia Goslhaall (S) g o pualaall 0da & (Sladll gl o alial ) 533 Gl /) giSal) J i
LAl Jad e g Al

5. The Complement of the Object
e.g. He found Faisal a good student.

In the previous example, the noun phrase “a goodstudent” is the complement of the direct
object “Faisal”. Compare the examples in (a) and (b) below:

a. The teacher found Faisala book.

The teacher found a book for Faisal.

b. The teacher found Faisala good student.
The teacher found Faisal to be a good student.

In example (a), “Faisal” an indirect object and “a book” is a direct object. The sentence
means that the teacher looked for a book to give to Faisal.

In example (b), “Faisal” is a direct object and “a good student” is a complement. The
sentence means that the teacher thinks that Faisal is a good student.

g Jgriall ALASA o5 [ b Agans¥) o Lall Auwaldl) 485 -

csrall oL aga oo A ALSA G 5 ST LS



He found Faisal a good student /J« -
Jeldll >>He: Wal-

J=dll >>found

il 4 J il >>Faisal

syl 5l 1385138 "Fajsal” of iay 43l La xallé (He found Faisal) (08 Levie (JaiSh ye mall oS-
LS e allalleda 8 s 135 1S Faisal” o

a5 & e 5 e S e o s "Faisal” aa s 4l U aadi Y-
"Faisal" o 428 51y 5l saduil) safiny e Jy «(He found Faisal a good student) Ul szl sa ud 138 o)) Y
EENE XS

LS O 5Ss  nalld AL&A o3 (90 (e Y"Faisal" 4 Jseiall AL o (3 good student) Alladl o3 i
..(a good student) 4z o Ll (5 5 "Faisal” 43 Jsxiall Jai o 5S5 o Small T3

a) 4wl o jball Bl JE) 8 ¢(So to state we said here again - Al 5 e La ol Lo zaa i) -
"Faisal" sdluall 4 Js2iall a1 4 (good student

1YL (b s @) (b il 8 falie¥) (any () i 5l oLl e e zda sl
The teacher found Faisala book -a

The teacher found Faisala good student -b

i Lo o815l 8 o1 5 ligibiia Legdl L ey filanl) (lola-

D aleall s 5 i (a) B V) Alal) -

The teacher found a bookforFaisal

il S e Cund Cand el Tl

T aleall s 5 dmia (b) (B 4l Allal) 8-

15t of LSy DU () Alea oo 4dlide aleal) s2a-

The teacher found a good studentforFaisal

LA Lo 13 ad Y ¢ diadl aad) Gl sy 5 s alll (e Cnnll Caaly al ggé-
s oenil) 13 e dus i sale) WiSar

The teacher found Faisalto bea good student

gt Gl sa Jiad ()L "o s Siiey sgd-



Dl &yl
. 8le e 44 Jgia 58 "Faisal” < (@) JsY! JEa A
o e 4 Js2ie 52 "3 book”
(S b o) " Sl WIS el 58)-
Jemail slae 5 QIS e Cuag alaall () ind alaali-
ol ela 5 (b) JGal) (8 asl g4y J gmiae Lol Gl (8 ¢ jdle 40 Jsmda 54 "Faisal” < (b) SE JUAI 3-
."Faisal" 4 Jsiall al&4 4 "3 good student
Agine Qs o Jaad o aig alaall G Jiad aleall of S5 LS
6. Object of a Preposition

wis n o
N

Prepositions are words like , “on”, “of” and “off” which are normally followed by a noun

phrase. The nounphrase that follows a preposition is called the object of the preposition.
e.g. We are inthe same class.
He walked ona high platform.

In the two examples above, the noun phrases “the same class” and “a high platform”

ow; n

function as the objects of the prepositions “in” and “on” respectively.
2ol dijad Jgria <6 /A Azandl) o bl duualiuad) Aduli gl)-
NP Asand ol o Bale A (in, on, of, Off) /die «tlalS (b all o ya-
el ol Lgpand g yall 42l < el Gioal Jgnda ey sall Gioa &85 A el o all
coal) Gaal Jsria ol "Jadll  saia aleall J gade ¢ 5 38 4l Tl L
..(Object of a Preposition - yall sl Jszia) & 4kl 5 (NP) (& 4ssall 13-
oall Caal Jgnda o Lidla 8 ja a2 (NP) n s 131 13-
We are inthe same class -1 /JUe-
..(The proposition— _all <& =)>>in
..(Object of a Preposition -_all < sl Jszia) & 5 (NP) 4ensl o e 2>>the same class
LMool olad) dlas 40l (PP) Lyaall 5 Jladl 3 e aguani>>in the same class
He walked ona high platform -2
..(The proposition— sl s )2) >>on

.. (Object of a Preposition -_all <s a1 Js2éa) & 5 (NP) 4xenl o e o4 >>3 high platform



L osoaally el dlas 48" (PP) Lsoaall 5 lall 3 e agrand >>0n a high platform
:(So to state we said here again - 3 8 Lia olil8 L o il)*

a5 al J 9288 ery (a high platform) s (the same class) 4! &l jlall ¢ eV A Gl Galliall a-
(s e -respectively) (on sin) Ll

7. Appositive to another Noun Phrase

An appositive is a noun phrase (NP) that describes the same person or thing as another noun
phrase (NP) that came before it.

e.g. Your friendAhmed Al-Aliis here.

In the previous example, “Ahmed Al-Ali” is an appositive. It is in apposition to the noun
phrase “yourfriend”. Both NPs “yourfriend” and “Ahmed Al-Ali” describe the same person.

We will talk more about apposition, including appositiontypes, in the next lecture.
: oA "hsanl Alas 4™ dsad o bl Jaul) -7 [ Apane) o jall Asld) Adgl gli-

Lol Ciela Sl o jliall (5 AT dpand o LS o L) i ) padill) (i Chay el o jle 58 1 Jad) Gy gasic
(Y e o jlall 8 SO e ) i) it sl 4 agan) o bl o ) )

Loadall i o (o gad LaalilS iliie Usla Aand o5 e Lial T3l

Oliadie olili Lea i co 3 g1 5l (and, but, ... etc.) s Gad ¢oian¥) G bl C als e o8 @llia G 13-

o bl i}(ﬂ.} oy Cdadl" e (ij‘}“ Ay DJL.\:J‘)LJJY\ ﬁs—u‘}” Az ‘sﬁi:a Lﬁﬂ‘ (@tﬂ\ Ay DJL.\:J\)‘;'MS\ ?’“y"
. A;‘}‘W QMY\

Your friendAhmed Al-Aliis here/ -

..(The NP) ¥ 4 o jlall >>Your friend -

..Jull &5 ¢(The another NP) 43Ul 43au¥) o lall >>Ahmed Al-Ali -
coaddll i e gl gad L 5 (5 A0 daliia Usla LaalilS -

.. Your friend 2 YxAhmed Al-Ali -

(A Gy 3 (Apposition) s (0)3) < 3 (Opposition) o 15881 giSal) LelE ads gate*
YRR 25 A alida Walinad >"Opposition" BRUARAET b <3 ‘éﬂ\ gagiandag s >"Apposition"
AT e b sl el o

..(Apposition) < (A) s lag ) a U 4y saill aada gl) o ) laads of sy 13-
:(to state we said here againJust - A1 5 e Lia olill L praa 5il o) *

.y 2 (Ahmed Al-Ali) - «Gud) Jad) 8-



.(Your friend) 4w o jlall Yoy 548 -
Ands (a8 Jlaat (Ahmed AI-AL) 5 (Your friend) cufien¥! G jlall UGS -
Al o pualaall (B sall iy s glsil ] Ald e (g 5 sall i s e ST i
Exercise:
Choose the correct function for the underlined NPs:
a. Subject b. Object c. Complement d. Appositive

1. His father gave him some important advice.

¢ (some important advice) 4adas & L -1

Jeldll >>Hjs father

J=dll >>gave

.. (gave) J=dll 42 J 280 >>him

.. L (gave) J=ill 44 J s2és >>s0me important advice

noihe e DAY 5 il Laalaa) Y gada Lial Ua T2

ALl Jsaiall 58 1) ((some important advice) s kel sl ¢ 2 T3l
.(gave) J=dll Lilw e 4 Js2ie >>some important advice -

A el 3 ezl s (gave) Jaill jdla e 43 Jsaie >>him 13-

Dilae 5l 5 8Ll Jsmiall s e opail Ll g allay) Cosllaall nal) U fuuafl aleald) (a5 sale ) i -
T Ja

His father gave some important adviceto him
il 4y Jsmie 58 gl iy 543 Jynie 8 >> (some important advice) 13-

ol pdlie asl 83 (53 45 Jgnia il Jally S 1A als JS Gl ole IS5 adda gl g J)sad) & o slhaall®
b. Object s <l sall 13l ¢ jilae ye

2. Ahmed’s uncle lives in Riyadh.
..Jeld 58 5 (NP) 4xausl o lie 94 >>Ahmed’s uncle -2
Jzé >>lives
..(Subject -Jeli) 5 (predicate 4] diwa) ) zliag alaall o) alai LS -

Ji Cels 3 5 (Ahmed’s uncle) o La 4 &l jlall 5 dpend @l e Sale §5Ss Jeldl) allal) oda & -
ool o T3 (Jeli€ Jaxi a5 (lives) dadl)



.." Ahmed’s uncle" deld) I s2iua L&) () (predicate -4} 1ue) 4 >>lives in Riyadh
a. Subject s& il sl 13-

3. Ahmed’s uncle is a successful businessman.

$¢Jelé (a successful businessman) Ja -3

Ahmed’s uncle< sa s Jeld Lual 45y Y -

9805 f al&a i "js" 435Sl Jadl J yaia (a successful businessman) Ja -

) d i 1) cpadall Guil e la gt liliie Glisan) (ke 2x 5 Y 4 Ju oad 58 galalls -

m (5 ) amy Al ) lind 45 g3SH Jad s Jeld Upal (S 1) W LS 5 cala€al) 5 J smiall slaa o L Uial i
(sl ad

A ALKA allal) oda A Mig" aa ali&h ) #Uiss >> (Ahmed’s uncle is) -

.."a successful businessman" 4z o jlaxll

13¢) 5 imall (el daga 4laAll 038 1A calaal) ole) Adas a3 (Ahmed’s uncle is) Jsi of akains ¥ -
c. Complement s <l sall 131 ((The Complement of the Subject +BE) 4L&Al Lgsans

4. Khaled has a lot of books in his room.

.. (NP) 4 o JLali>>his room -4
JndaS Jani Ll a Cijas S dgand o e Ll S 13 Tl W LS 5 ¢ <oy (3 (NP) of aaS-
b. Object s& < sall 13 ¢ jall i yal

5. The teacher gave the students exercises.
deld >>The teacher -5
J=é >>gave
..(gave) Jaill 43 J s2ia (A 5 43aul o e >>the students
..(gave) Jxill 43 Js=ia 98 5 aul >>exercises
..(gave) daill (¥ saia lela (jland Lual -
The teacher gave exercisesto the students :zuail Alaall Cus i sile ) WiSay -

- . le 4 Js2ie 545 (gave) Jxall 4 Js2ie >>exercises -
b. Object s <lsall 13 ¢ 8l e 43 Jsaia 58 5 (gave) Jadll 43 J s2ie >>students

6. My brother Saleh studies at King Faisal University.



..(Nominal group -4l 42 sans) e 5 cdganl o e >>My brother -6

..(Proper Noun — gle aul) lee 53 cdsausl o JLe>>Saleh

i pad 8l e ol e Laa SIS 5 ulliia ela 4pand) o jlall ¢ 50 e gle 5t -

..(Saleh) =2 &daidl a0 13 "My brother" 4dle 3 sy g3 paddll uii e 3 523"Saleh” -

eu‘)“‘&_\.\c Jﬁg;ﬂ\ il um‘;r— Qg2 oA g ‘);i(a»a\ J’—)GL;V‘-\M\ oy ‘(d.\g) GCA;AJM\L)M\ (a.ua\z“ 9 -
d. Appositive s il sall 13) "Y1 an¥) i " AY)

7. The manager found him a hard working employee.

9[ a hard working employee] 4k & W -7
Alea) o3gd miall il 58 138 Gud Y 984 agblaad g dale (e Ganad (ad gl ) aleadl o3 e Ja -
Jagine dale s Gy o afiay puaall (o 8 Aleal) 03¢) maaiall iadll -

ol ela B8 5 "him" << sa g aal g 4 Jgnde L8 Lial
<4 Jmiall Ja&4 g 43 Js2ie ol 8 (@ hard working employee) 13) -

13 ¢ The manager found himto be a hard working employee: Jsiié 4leall s3a 1 3 sale) LiSay -
c. Complement s& <l sall

__J}‘);.AM}J@\BJL.\LQLJJAJ\OQMJGX\::)'AM\&&J@*

s alaall s 5 salels 1l salI89 (Complement of Object) s (Indirect Object) o d)ﬂ‘ S [J) pu*
e Lga seie Jalyiial

Types of Apposition
dadl ¢ gif
Jadl g1s3 Types of Apposition :

In Lecture 6, we mentioned that one of the functions of the noun phrase (NP) is as an
appositive. We defined an appositive as a noun phrase that describes the same person or
thing as another noun phrase that came before it.

In this lecture, we will discuss the types of apposition.

Apposition can be either restrictive or non-restrictive.

4ol gl HSd a3 pualaall a8 ST JSE die Chanin g ¢ Aualad) 3 bl 8 Jall LA (5 S35 LS
CNP o Ll paid) Zaawy) s el 5 ¢ daan) s jlall Cailag aal o gadday o Jall of Ll LS

Gela 5 5lall (5 AT dpanl 5 )lnS o il i 5l il (i Ciay dganl 55l 8 ¢ o Jall Gy ja LSy

(Y B 5 jlall 8 KAl o i g Gl ) el Cumy dgansd 3 e 8 T ) L Leld
Joald Lagiy an 50 Y 5 4 o o) ol Gadl) il LaalilS 5 (5 a1 any 5 Laa s lisan) G5 jle Ll 13-
st s B el diba g ) o L8 ) adlBl) gl Cauad 48 5 5lall o 6l ¢ (and, but, .. etc.) S ks



da gl Bl 3 bl b A-

(e ) e s (a3 ) e 0% 8 Jod

(st e and) g ) e il e 331 s restriction (e o353k restrictive -
A. Restrictive Apposition

e.g. Your friendAhmed Al-Ali is here.

In this example, the second NP “Ahmed Al-Ali” restricts the meaning of the first NP “your
friend” by giving an answer to the question “Whichfriend?”

We call the NP “Ahmed Al-Ali” in the previous example a restrictive appositive.

Note: In this type of apposition we do not use commas before and after the appositive.

p hal) Jad)

Your friendAhmed Al-Ali is here /Jis

4l 3 ke NP <<Your friend

Ju A5 4enl 3 ke NP <<Ahmed Al-Ali

(o sV Apan¥) o jlimll amy gl AN Lpans¥) 5 Ll ) Laguianad (pualliia ol LaadiS-

v sds) ol (3 G () (s 3l (i a5 LY Jall 4 4l o Ll -

oY Al o jlall (i) 345 6f) a5 ( Ahmed Al-Ali) 458 4penY) o jlall JUall 138 6 -

c(cl\ . chL.a cdaal cAllA 2iag 88 )‘ Gida ng\ o haah Wil oSl L}QQ}S:M(Afriendis here)\jﬁ\;\j-
(S8 Gl ) s ds el Ol la Jaiae ¢S5 8 Baaua o5l 13)

s_balls ( Your friend) 4xes¥! o jlall WA 025 Ugd (- Your friendAhmed Al-Ali ) @ Jsi Levie (Sl
. (Ahmed Al-Ali ) 43Ul 43euY)

il adajha (g3 sl e Gilal ( Ahmed Al-AlT ) of si-

(9334 Jy ) & Jy ey ( Ahmed Al-ALT ) Al o3 é 13-

Gl dmy g J Jaal b aodiis Y Jadl e g ol 138 A 14dh gala

. sl g o2ay 5 4ld 3a 50 Y ( Ahmed Al-AlT ) Jad) o JUal 3 ) slaa St 5113 -
oo Gl il padiiins Ml g gl A

B. Non-restrictive Apposition

e.g. Ahmed Al-Ali, your old friend, is here.

In this example, the first NP “Ahmed Al-Ali” is a proper noun which is unique and does not
need modification. The second NP “your old friend” does not tell us which “Ahmed Al-Ali” is
here but only adds information about him.




We call the NP “your old friend” in this example a non-restrictive appositive.

Note: In this type, we use commas before and after the appositive.

D aia il Jad) -

Ahmed Al-Ali, your old friend, is here /Jis

4anl 3 e NP <<Ahmed Al-Ali

Ju 25 4l 3 )ke NP <<your old friend

(st oY) Aan) o Ll dmy el AN Al ) 5 jlaall ) Lagudand cpalliia Jola LaaDS-

V) e ball (B Caa (Al Gl (udl Ciba s LY Jall o 4l o jlall -

.. (Ahmed Al-Ali) (353 43au) o jlall 32y e\ (your old friend ) 45 4pes¥) o Ll -

oY) eVl o jlall (ixall 335 6l) xall 3B (your old friend ) 45 4xenY) o jlall Qi) 128 b -

Ahmed ) sla 3241 Jadl & 5 «( Ahmed Al-AlT ) = Ulay Ll Ui olilad Lo (&0 5 bl JUiall aliie JUall 12a-
..( Your friend) 2= (Al-Ali

i Y sk il gl) Al judai Y s g s a) g ((Ahmed Al-Ali ) 15V asesl) o jlad) cadlad) s3a b-
Laaad ol Jaaat 2l Y 5 (e 4l ol Ll

.. (a8 Baaa (51 —Which old friend? ) :JLsiv «(your old friend ) : < J& Leic-

el julai Y 5 (3035) Gae padd s Ahmed Al-Ali O W alsi ( Ahmed Al-ALT ) @ <l Jl& Lavie oS35
¥ o el & 5 A el an3 a5 4ilia) 4aslas (e 5 5ke 58 (your old friend ) Ol 13gd
coodnyg Jal 138 U8 Jaal g linin g 5 (S350 pe) a0 e Ju dpend ) 13gd oY)

Loy ALl Joal b Linas 5 X85 e Ju s (your old friend ) 13-

o dad) day g J Jeal 8 axdind Jadl (e g gl 1 A sads gala

Exercise:

Decide whether the appositive in the following sentences is restrictive or non-restrictive:
b. non-restrictive  a. restrictive

1. The shopkeeper Othman is a hard working man.

4xen) 3_be NP >>The shopkeeper -1

Ju A5 4penl 5 e NP >>Othman

(s Apan) o jlamll 2y gl AN Lpans¥) 5 Ll ) Laguiamal (pualliia lola LaadiS-

ce IS ) b a5 adBll (i i s LY Jadl a4l o jlall -

..d% s 13 The shopkeeper x: sla Othman-



« shopkeeper i Y s 38 Ugd ( The shopkeeper is a hard working man ) Jsii Lexie-
.( $2a8 &1L (51 —Which shopkeeper you mean? ) :Jls 3

b S5 6 iad) U Ugd ( The shopkeeper Othman is a hard working man ) : Jsi Lexie ol s-
. &b s A 5 Othman e b padd (e s ad GYB ¢ J5Y) 4anl) s lall

a. restrictive s wlsall 13) ¢ ¥ Jy s Othman Alall s2a -
2. Dr. Omar, my Linguistics professor, published a book.
4aml 3L NP >>Dr. Omar -2

Ju A5 4l 3 )ke NP >>my Linguistics professor

O (' my Linguistics professor ) 4xlll alal (5 ) sud s 50 98 5 ( Dr. Omar ) = ) sud s Ll Lia-
o Ol (5 ke

213 (Y 4pan) o 5lall 22y cls (' my Linguistics professor ) s ls¥) 4sauY) o jlall s ( Dr. Omar )-
. @tﬂ\ Araw) a)l_.ud\

Al Gaddll Ciay LadiS-

A (s alai (238 (D, Omar ) W ¢l 2y 5l 335 Y 4 5 Ja 58 ( my Linguistics professor )-
OF Claley aaiasall g iaaiall o € yae )5S 8 e —~Who is Dr. Omar? ) :Jbs ¢ff chasally (adl)
sl ald ) oud g 5 58 Dr. Omar Jswd sl

b. non-restrictive s& il sall 13 « Sis ¢ Ja 58 (\my Linguistics professor )-
3. Majid and Saleh, my cousins, will visit us tomorrow.
sl 4l 5 e NP >>Majid and Saleh-3
4li 4xeul 3 ke NP >>my cousins
s Laa Ly padll G e gl sm LaaSIS-
..( Majid and Saleh ) dlassall Glawl) 3 5l 353 Y ('my cousins )-
b. non-restrictive s <l 13 ¢ S8 e J s ((my cousins ) cdiall o3 i -
Prepositional Phrase
Dsoaally Jlall s jle
29l Jll 8 Le Prepositional Phrase (PP):

We mentioned that a preposition is a word like “in” or “on” which is followed by a noun
phrase (NP).

e.g. Mohammed is in the classroom.



In this example, the phrase “in the classroom” is called a prepositional phrase. It has a
preposition “in” and an NP “the classroom”. The function of the NP in this sentence is the
complement of the preposition “in”.

A preposition normally comes before an NP, but it can also be separated from its NP as in:
e.g. The man is standing onthe platform.

What is the man standing on?

The platform that the man stood on was very narrow.

However, in these examples, the association between preposition and NP still exists.
cosoaally el s jle I Jasii oY)--

o Jall (e SIS Al Gia any G A ) ol Al g (8 JalB US55 el s Jladl 5 ke e Tl Liass
oosaally Jalls jle ey jall Caja g asanl)

oJ\_.\s: d';\d.}oJ\_.\c JPJL;)JTJ“ ‘LLAA:\M\cJL.\QJJ;&JJ;J).;}UALJ\éc‘;\;\ijj‘);ﬁ\jjw"é)l_.\cg\lj-
o (osoaadls Sl le Jaly 8 dgel o jle Wl il g1 ) A

o NP A o 5l | 258 3l ((in, on, .. etc. ) @ o aled WS jall Cag a-
Mohammed is in the classroom /Jts-
. 9y a3 ke A >>in the classroom
.. > <8 A >>in
4l o jle NP lgiua >>the classroom
43aul 4c 030 Nominal group e s
(i) oAl Goal Jnia Ll o aleall oda 3 4gan¥) o jlal) diska 5-
. (object) | s 5 4alSl o2 | 83al J (complement) st 5 ke Und o gy adl 585 ) giSal) Lia

Wﬁ})@l\q‘);&wy‘o)w\dmé&ﬁoﬂ_,s&,}mu‘ﬁ\b)w\dgﬁ‘éji);j\qﬁoiwﬂ\w-
oY) e alaall 8 ekt VB aanY) il jlall Glal) s

(AsansY) o Jlndl 5 sadl Caja) Lagia IS Ll Y1 QU)o

The man is standing onthe platform

-o3lS plliie Uil Legin SIS 5 (Object of the preposition) sall i al Js=ia s >>0n the platform
£ S Ja

What is the man standing on?  /Js& 3

Lol ade Gy e 3 sl 4 Jsmiall e Jlus La-

cAlaadl oda 8 jelai Y (asan¥) o jliall) the platform-



s bl s all Casa o ) asm 50 1) Lo g ol 3 llia (S0 5 all G e dliadio 4ganY) o Ll 13-
C s (the platform) e o jlall Hedatis Balall Jlsall e caglas )X\J\ ‘( Ataw)

..He is standing on the platform>> ¢ sSs l sall 13-

oall Gaa s asent) o ladl o Jal 55 @l J) e Shad 13-

et | g WO

The platform that the man stood on was very narrow

.. ba caatiall dclause gy (Saall (go-

.6 on all i s Ji Gels The platform 4sen) s jlall-

..(subject— Ixix) s 13 JS " The platform that the man stood "-

ool Gia 8 el Ll a1 o jladl 5 casan¥) o Ll e el o Liliad JUall 138 dm

s3n 5 Y le) Lagias 2a) sia J) 3 Le Jaal il (S0 5 el o Jlaadl el Cipa L Jiat) il YAl (any o2a-
__(D.J;\j

However, in these examples, the association between preposition and NP still exists.
Prepositionalphrases can express a number of ideas, including:

1. Placee.g. The book is on the desk.

2. Movemente.g. He walked to the mosque.

3. Timee.g. | finished the exam in one hour.

4. Mannere.g. He finished it withlittleeffort.

5. Purposee.g. This message is forAhmed.

6. Agencye.g. The window was broken by the young boy. (Passive)
7. Instrumente.g. | wrote witha pen.

ool s Jall <l jlal Glaladiu¥) any ) Y 6 plas Sl

el 5 JSEY) (e 220 e b B s aall 5 el @ e

Ssali>>Place -1

ool s a3 jle aladiuly le o L S e duaal) LiSay-

The book is on the desk /JGs-

Leeed OSa e L PP s e Ul 3ke (4 >>0n the desk

L leed lSa e iS55 mas B le o on the desk 13-

JEiY — JENI>>Movement -2



He walked to the mosque /JGe-

.. (the mosque - aausall ) 58 138 GSAl 5 ASa I Cad 5 Jal Lo s (JEYT (o i ol Uia-
L JEE S Q) e g P s s Ja s le A >> to the mosque-

e — Bl >>Time -3

| finished the exam in one hour /JUs-

sl el ge i ysome s Jla bl (A 13 QLAY el Wb ) 43l 5 sl a>> in one hour-
. gl)

AJIA—LA‘E,ASAJAQ géhuai.&dy—gyi >>Manner -4
He finished it withlittleeffort /Jts-

Asla o bl e i 55 mas Jlasole (o 1) el 13gd o 5ledl 44y yla il >> with little effort-
el dee (Al padd

B g S Lo il il 48y pla 13-
W — 4le — (o £ — 4l >>Purpose -5

o e Jsasll }“—A s JBVEAREILEYY ji lalaial sala - $Ladill Jaa ) (il Jaa Ja " 23 1 Purpose-
"l

This message is forAhmed /JG«-

Sl paddl e () el (A 5 ss e Ul 3 ke (& >> for Ahmed-
(2 kel o) s ot sl ) daal b gl S Al o3 13-
L g gl da) ddaud gy — ddauil g - LS g>>Agency -6

«(Active voice - pstaall Jdll) 5 (passive voice — Jsexall udll) e 4l 2S5l )3 (e (g5 ST &3S 13-
by el G alasiul ddau s 4deill & Agent ) Al aSiSay J sgaall aall 3 o | sialed 8

The window was broken by the young boy /Jts-
L. sh3all e-LA <3l sa the young boy-

4zis alaall Cela Ua ¢ The young boybroke the window : Js& (Active voice - a staall Jidll) 3=
oo pslaall

Jelé >>The young boy-

.4 Jsiall 4dlaas 5 (The window) 23U (Active voice - pstaall sudl) 5-

.. Il aless 5 >> (The window) 23 (passive voice — Jseaall iaall) 8 oS-
45 6181 (=8 >>was

Jsa&dll aul —past participle >>broken



.. 0353 WS (Verbal grope— 4slxidll 4c saadll) &) 53l s3a) & BE + Past Participle -
AL ales LY Al @llia Gud «The window was broken:dsis of ¢Seal) (sa -

3 58 (by the young boy) 4 U_S & The window was broken by the young boy: Js& Laie (Sl
L (s3U ardas 58 ) Lia Gaasd) Jad 53 "The agent — JiS slledalall™ 5l padill U €5

. (4l ) o) S SlI- Agency) ) e i s e s sl 3ole (& >> by the young boy-

sl3f >>Instrument -7

A e Jand deading o 3 gl ) 48 jhae -y GlE /Jie-

| wrote witha pen /JGs-

.. L 4l 5108 g pen caeadiul 13-

LY e b H5sma 5 a3 e & >> with a pen-

Exercise:

Choose the meaning expressed by the Prepositional Phrase in the following sentences:
a. placeb. timec. mannerd. instrument

1. My office is located on Riyadh Road.

$3lal-c slul- (e -0l & o Slaa oS3l ale >>0n Riyadh Road -1
a. place s <l sall 13 ¢ S il mal 1 (pa -

2. He graduated college with a good GPA.

98131 shud- g 3-01Sa & Ja Sl o Sd) ale >>with a good GPA -2

c. manner st <l sall 1) ¢ alls 4)-

3. He fixed the door with a hammer.

with a hammer-3

. ol e <13 LeagiS) 5" 352 "0 SIS 3l G ja (e Lianiiad Lif L ) glaay-
..( He used a hammer to fix the door— <l Z3aY 48 yladl axasivl ) ¢ slal L) -
d. instrument s& <l sall 13-

4. They will visit us on Monday.

93lal-c sl (e 3-8 & Ja Slia 5 S8l ale >>0n Monday -4

e sl 4] el



b. time s& lsall 13 ¢ i) oo 8 € e Wiy 5

5. The artist finished the sculpture with great talent.

9310l slud-pe -01Sa oa Ja Sl o il ale >>with great talent -5
o ol Y ¢ dadae 4 s (JUal) 45 miall el g 13 ¢ Le g il Alla -
c. manner s& < sall 13) ¢ 43 sl ol dadie Lo sar
Functions of the PP
sl 5 el 3 jle Caill

Dladl sl caitl g 3l V1 5 (NP 4sen) o bl caild g (he Lian 4Bl o jualaall b () S35 LS
PP soaals

Al gl g argall G 3L oS K30 cailla gl eda ) 5k o Ji-
..(word-phrase-clause) 4 4 jelas (53l edaall 5 JSall 4 rdipall-

.4kl 3 (word-phrase-clause) Ul Jasll (e o e o Adba gl

C PP il e Cuaal) JaSs Y -

29y ) 3 e il sFunctions of the Prepositional Phrase:
&1, Adjunct

An Adjunct is a word/phrase/clause that provides additional information about another
noun/phrase/clause. It is an optional part of the sentence. If we remove an adjunct, the
meaning will still be complete and the sentence will still be grammatical. It is not a necessary
part of the structure of a sentence. Adjuncts are usually adverbials.

As an adjunct, a prepositional phrase is considered an adverbialphrase because it does the
same job as an adverbial.

An adverbial is a group of words that does the same job as an adverb. In other words,
adverbials can be used to say when, where or how something happened.

e.g. The man stood on a high platform. (adverbials of place)

This prepositional phrase (PP) is an adjunct that tells us where something happened.

| finished the exam in one hour. (adverbials of time)
This PP is an adjunct that tells us when something happened.
He finished the exam with little effort. (other adverbials)

This PP is an adjunct that tells us how something happened.

DY) ads gl



Dl g
S 0SB s sadly el &l e 13-

word-phrase-) (e 4dla) 4aslas 238 5 3 5 (Word-phrase-clause) e o_be s 1 Uil iy i
.. (clause

Al gl s o Ui 8 ey ¢ Al e alaadl 3 g 5 e a5 ilal ()5S0 o) 13-

Adee ol o Y il A O ¢ imall B LY Lgalatiing) cony 5 4 5 pum ALaKA (o LB il o pumlaal) 3
. Sl Sixe e s le Y alaall b adil) v JLS)

o Aleall (g sdbaind (Saal) e 13) c"aleadl 8 (5 R 6 5 A" (el Sl ) (LR (0 5S aall-
L") e 8 e aibaia 4y ga i aleal) 5 Sl Gl iealld alil) Bl 13)-

oAl eaclall (5 55 i e 6 3 il

.. Jal8 2y adverbials ) (e 2 palialle o jrin ¢ "a syl —adverbials" (5SS Bale al il -

Al y )5S Lavie (51) 48kl Jae (udi Jan LY 48l o jliaS Jalad 51 i 5 aall 5 Jlall 5 ke ¢ qiliS-
(8BS Lelae Jia i€ Lelae (Y 4 ylall o jlaall dlabaa Jalad Leild " 5 yaally Jlall 3 ke

.. (adverb -d&ll) dee (adi Jaad Al QLS (0 4o gana o A Jat).

e Cigan ol Caan la oo (S 5 ol 5 sle) o Ui AdS a1 Jladl (8 e Jall Gine 98 La () galad -
L

A S Jalah ) Rl il i€ g yaall s Jlad) @l jle Adda 5 ¢S5 Lavie-
The man stood on a high platform /1JUs
. aany alaal) olgiil Adadh pua O ofadl (e 5 alai€a alaa * The man stood-

Ol Lidcal 38 Ligh € iyl 1 J g ¢ L) e Ll 38 (3 (0N a high platform) e bl 13) o<1
L al) 4 S g3

OSe oo Upmtn i Wiilags o Hyomay sla 3oke Leihua ¢ 4l 48,k 4 >> on a high platform-
codlaivd Saall e g alaall 8 g5 e alil) O LB LS ¢ L g ol Cgan

| finished the exam in one hour /2Jt
.. 4xila ) 48 1 o384 >> in one hour-
odntgacku 8 3Ld a1 0 Lo oo L ed) 3 agia 3l o il e U i Ll

‘d.e_;ﬂdz;:aud);jjMlq;]\QALAJ\:T\L»\QSAA\QA‘@U‘;A}J});AJJ\QBJQQ@>>inonehour-

He finished the exam with little effort /3Jt
.. ( Manner -dla ) e J% >> with little effort-

Lledlla e Ul o JUall 13a b Lgie 5 s_al il yla Lyl T3)-



(D g el € LAY ol a) (la o i gan AES e Uiy &) L T30
. aleal) olgil ddais aai 5 He finished the exam: Jsi o WiSay 45Y &5 s >>with little effort-

Note: Compare the definition of adjuncts in this lecture with the definition of complements
in Lecture 6.

A complement is necessary for the meaning to be complete. If we remove it, the meaning
will be incomplete and the sentence will be ungrammatical.

An adjunct is not necessary for the meaning to be complete. It gives extra information. If we
remove it, the sentence will still be grammatical.

sabale

L AGL) o jualadl) 8 Lali 83 3l LKA G 5 o paalaall oda (3 Wl S5 3 al sl o i
A il a4y 55 e COSA () asslill b pualaall 8 L LS

LSS i) 5S5 of L 13 cd&Al ) s 13-

LAl e (S aleall 5 JaiSa e S Sralld JaSA) el 13)-

Al daslee Y inall JLSY (g 5ma e il el sl Als 8 Jilaall o*

cadaadl 8 o) ) da glaa )5Sy 2l

5 4l an sleall St Wil pmaa dlagl ag s i alaadl 5 5 Y LS e iealld il Laegia) 13-
SO Y L LS liy alaally Jixall (S

2. Complement of Subject +BE
e.g. Thebookison the desk.

In this example, the prepositional phrase “on the desk” is the complement of the subject
“thebook” and the main verb to BE “is”.

Do Al agds 5l
rd Sl Jad + Jelall aless -

Jad + Jelalleha&a Ltk 5 () S5 38 Aanl) o bl (o) L8 Ll () 5 S35 LS dans) o jlall 4t & i) 138
.. BE43 1)

Thebookison the desk /Jts
Jel@ll >>The book
..(main verb— lul J28) s 54558 Jé >>is

ALK Lgadag g0 s aa 5 Y s be Leiaua >>0n the desk



LJaiSE g el macan Waliaagin) WY aleh cela 5l 5 lall 5 jle La-
LA e 5 Alie e alaal) ¢ Sin alaal) olgii) Ak a5 &3 The book Ll 13) 13-
3. Post-modifier in an NP

e.g. Thedeskin the classroom is covered with books.

In this example, the prepositional phrase “in the classroom” modifies the noun phrase (NP)
“thedesk”. The NP is the head and the PP is a post-modifier because it comes after the head.

oA AU aids )
el o jlie (A (g0 Jaea -3
PSS 8 YA o LSS 5 cci¥anall e 5 Aaan¥) o bl oo T Uians
(o dd s ) 4l Y.
(ol a0 2)) gaey Y aes
Thedeskin the classroom is covered with books /Jt%
4l o jle NP>>The desk
LAl e e slas Canay ged (gamy Jara a5 cdpanll s jliall e ¢ 3 8 >>in the classroom

8_le cilS 130 Lo (o yeil Lgadiins 4y yhall 038 131 <"it" & (The desk in the classroom) Jlasiasl ¢Saall ye-
oAgan¥) o bl (e e 3 sl s lad)

s Ui (Ll an¥l o lall Ja "it" anall wmi o Saall (e 13-

Itis covered with books

il Yl ol 038 5 cdsan) o e 8 The desk in the classroom 13-

s allalloda 4 Lual 5 ¢ (in the classroom) soaalls Jlall 3 ke 5 (the desk) 4xes) o lall
(the head — i_) >> desk

"desk" o) Jd ¢ls 4 (pre-modifier— L8 J3x%) >>the

aaanYl o lall (8 (post-modifier— = Jx2) >>in the classroom

. (The desk) 4sx¥! s lall <32 (in the classroom) Lsoaalls Jlall 3 le 3 JEall 38 5-

ool amy el LY (gamy Sk a Hsomalls Jladl ke 5 Il (o 4sen) o jluall-

4. Complement of an Adjective



e.g. Ahmed is goodat Mathematics.

In this example, the prepositional phrase “at Mathematics” is the complement of the
adjective “good”.

We will discuss adjectives in more detail in the coming lectures.
P oYl g aml )l aisla )
paaall alils g
o liall AL e seanl) Liay Un 5 ¢ Jinall JUSY 43550 (o8 A4 (5 AT o o
Ahmed is goodat Mathematics /JGs-
Jeld >>Ahmed
Jad >>js
cAEl) & paladll A clial) il da >>good
cadealloda 8 el JLSY 4y )5 i daslaa Lidani o jlall 038 ¢ 5 )30 5 Jla 5Le >>at Mathematics
(a3l ) fan g ad ) Jlulivde (Ahmed is good): s Lexiai-
at MathematicsAhmed is good: Js& 5 4leall JoS5 o) cand
.."good" 4ball aliSh & "at Mathematics" Jsoaally Jlall 3 e (JUA 138 4-
. Al @l pualadl b cliall e (Bl Wl o S0 LS
Exercise:
Choose the correct function for the underlined PP.
c. adjunct a.complement of subject+BE
d. post-modifier in an NP b. complement of an adjective
1. We finished our exam in 2 hours.
foan Jara 2 $4lSh o4 Ja >>in 2 hours -1
Al ylaca bl Mit" o (our exam in 2 hours) Jaivd LiSas Y 43 (gaay Jaed Gl o aglaill i

Aaie alea We finished our exam 4leall sy in 2 hoursaaiu of Wiy 43Y) Lyl alass ¢l o 5
el o 52 X sl 13« gl a3 e 4gilial e slea Lithe | in 2 hours oS 5 ((sinal)

Coosp sl T3¢ als oa QA ag y5 e e dudlia) Ga sleaS el Ll LS aile ) 455 4 in 2 hours 13-
adjunct

2. We visited the big shop in the mall.

deldl >>We -2



J=dl >>vyisjted
saal 5 o2a 5 il () shads >>the big shop in the mall
We visited it: Jsi o (Saall (pe-

Uadanil o jlaadl 038 dalay Wil (51 ) (inall JLaSY o jlaall 038 dalay (i (ads Codl 4 in the mall Aladl o283
__(the big shop) 4an) o jliall A Jaza &R ) 13 ¢ ( DSl il e dndlia) da glas

- Leie Yy "it" aai 5 (the big shop in the mall) 4xesY! o bl Jlasinl LiSar-

4aaul 5 e NP>>the big shop

d. post-modifier in an NP s <l sall "the big shop" 4xew¥) o jlall (ga23 J324 >>in the mall
3. Mohammed is fluent in English.

delé >>Mohammed -3

d=dll >>js

44a >>fluent

fluent 44all 4xS4 & >>in English

"in English" zlia fmuad s M b Ifmuad s ad 1deluss 8 ((Mohammed is fluent?) 1Jsé Leie-
izall JLSY

b. complement of an adjective s <l sall 13-

4, Ahmed was in his uncle’s house.

deld >>Ahmed -4

J=d >>was

e Sl JLSY (55 alanll 028 8 W a5 >>in his uncle’s house
o Adeall JLSY dalay (i Uia ¢ (il g Ahmed was:d sl LiSay Y -

a. complement of s& <l sall 131 ¢ 435Sl Jaé + Jelill aleSa 4 >>in his uncle’s house 13-
subject+BE

5. Ahmed’s uncle has a big TV in his house.

Jell >>Ahmed’s uncle -5

J=dll >>has

4anl o e NP >>3 big TV

NEe lgiada s oo Lalia ¢ H5ma 5 a3 ke >>in his house

.. (has) «i5:S) J28 + (Ahmed’s uncle) Jeldll 4lash a3 big TV aakll-



cAlaall 3 el JUSY 4 )5 pun e 4ilia) e sl LY (a5 4 (in his house) 13 -

" Capai Ladie (S0 g ¢ Lyl 43 5a 5 el ALK alaa (5 585 Ahmed’s uncle has a big TV: Jsill LS
.. Alial 4a glea Wal o Siud "in his house

"faeal ac Aliey 52 U ady 04" 1 58 4leall (he (in his house) Lida 13 Jlpadl ) S 131 -
A4S 4l eh el s paalls lall s le Ak T
c. adjunct sa < sall 13-

5 ST a5 caliall <l yumlaall 8 ) Ls o Cailla gl g gl 5l lad) (e ddlis £) 5if (e Capal) JeSi
.. 305 clause (o I e g sias ) 5 Taias ST Jad 2l



